Skénes BF
Allemanstraffens final 2010 2010-03-07

Partavling, 53 bord, 105 par. Antal brickor: 48. Medel: 2449.6.

Frirond (*) ger egen procent.

Plac Par
1 67
2 16
3 276
4 273
5 76
6 216
7 178
8 107
9 1
10 64
11 271
12 274
13 15
14 110
15 102
16 166
17 264
18 167
19 278
20 118
21 18
22 75
23 113
24 66
25 272
26 217
27 106
28 277
29 174
30 211
31 109
32 104
33 11
34 207
35 267
36 202
37 78
38 165
39 175
40 170
41 74
42 63
43 164
44 2
45 103
46 3
47 212
48 79
49 70
50 77
51 163
52 115
53 268
54 13
55 68
56 117
57 108
58 275
59 114
60 116
61 214
62 10
63 14
64 168
65 208
66 169
67 71
68 172
69 8
70 203
71 173
72 5
73 206
74 279
75 17
76 270
77 9
78 215
79 112
80 204
81 209
82 6
83 266
84 4
85 269

Poang

3432.8
2976.5
2910.6
2843.9
2837.7
2813.1
2794.1
2767.7
2762.8
2754.1
2750.0
2730.2
2710.0
2693.7
2685.5
2655.8
2648.5
2643.6
2643.1
2627.1
2623.3
2622.1
2613.5
2607.0
2588.1
2584.5
2581.6
2577.6
2566.0
2556.6
2556.0
2548.7
2547.9
2547.6
2542.0
2540.2
2533.7
2527.4
25254
25225
2511.2
2501.3
2498.9
2487.8
2478.2
2467.0
2466.1
2462.3
2460.7
2459.7
2454.3
24514
2443.4
2439.1
2434.6
2424.7
2416.3
2409.7
2405.5
2398.3
2396.2
2387.4
2385.8
2381.9
2380.9
2380.7
2353.3
2352.9
2352.8
2345.6
2341.6
2337.6
2332.6
2328.1
2327.8
2320.7
2319.9
2315.1
2298.5
2296.7
2296.5
2270.8
2270.2
2270.0
2269.2

%

70.11
60.79
59.45
58.09
57.96
57.46
57.07
56.53
56.43
56.25
56.17
55.76
55.35
55.02
54.85
54.24
54.10
54.00
53.98
53.66
53.58
53.56
53.38
53.25
52.86
52.79
52.73
52.65
52.41
52.22
52.21
52.06
52.04
52.03
51.92
51.88
51.75
51.62
51.58
51.52
51.29
51.09
51.04
50.81
50.62
50.39
50.37
50.29
50.26
50.24
50.13
50.07
49.91
49.82
49.73
49.52
49.35
49.22
49.13
48.98
48.94
48.76
48.73
48.65
48.63
48.63
48.07
48.06
48.06
47.91
47.83
47.74
47.64
47.55
47.55
47.40
47.38
47.29
46.95
46.91
46.91
46.38
46.37
46.36
46.35

Namn

Peter Gynnerstedt - Mikael Palade
Pierre Carbonnier - Jan Gutenwik

Ulla Hovang - Kajsa Lundgren

Mona Hallstrém - Ake Bergh

Sanna Stigsson - Goran Stigsson
Peter Moricz - Per-Olof Olsson
Anna-Carin Persson - Christina Sjéberg
Ola Svensson - Lars-Gunnar Ludvigsson
Izabella Johannisborg - Andrzej Cybulski
Per-Ingemar Nilsson - Wlodek Tugendraich
Nils-Erik Ekholm - Ingemar Henrysson
Per-Erik Pettersson - Tor-Bjorn Bohman
Peter Sjosten - Sven Ekblad
Hans-Olof Holmqvist - Berth Rasmusson
Ake Lindstrom - Karsten Willén

Osten Svantesson - Klas Bellander
Birgitta Andersson - Lars Olsson

Leif N6tesjo - Jan Lundius

Kristina Andersson - Bengt Nilsson
Ted Boklin - Torsten Roos

Torbjorn Gylje - Christer Ericsson
Ronny U Persson - Leo Lub

Ingemar Andersson - Johan Bergstrém
Jan Becklén - Tatiana Trendafilova
Ann Sundgren - Rune Johansson
Catrin Wahlestedt - Daniel Gustafsson
Birgitta Bornestav - Alois Novotny
Tomas Truedsson - Bo Andersson
Sonja Nilsson - Marianne Moller

Hugo Bergstrom - Borje Vestesson
Sonja Soérang - Lisbeth Skottke

Birgitta Kiotseridis - George Borgstrom
Gabirielle Bittmann - Bo Nilsson

Hans Svensson - Martin Gardrup
Charlotte Rudb&ck - Mats Martensson
Kent Hansson - Hans Tambour

Borje Nilsson - Bjérn Gustavsson

Gun Bellander - Olov Hagerfors

Johan Erlandsson - Bengt Nilsson

Jan Carlsson - Tommy Larsson

Bodil Wikstrom - Niusia Lichtman
Thomas Persson - Kjell Hakansson
Paul Norlin - Karin Andrée

Asa Olsson - Bengt Olsson

Rolf Svensson - Borje Svensson
Kerstin Bergman - Bengt Hesselbom
Sven Olsson - Margareta Olsson

Peter Andersson - Anna-Lena Vikner
Goran Persson - Kjell Stolpe

Netten Andersson - Ulla-Britt Nilerstedt
Anita Gullberg - Anna-Christina Ulfsparre
Folke Abrahamsson - Dan Bengtsson
Hakan Myrhagen - Géran Ekblad

Bo Persson - UIf Norman

Gun Romée - Jerker Persson

Nicolae Ostner - Boguslaw Wlodarczyk
Elisabeth Nyberg - Ingvar Hultén

Inger Hermansson - Anita Ekberg

Arne Dahlberg - Milan Korac

Marie Petersson - Henrik Sallberg
Anita Block - Ingemar Jonasson

Johan Millgvist - Else Holdt

Andreas Palmgqvist - Johan Bruze

Jan Lundahl - Hans Ohlin

Artwor Wemlén - Agneta Rane

Bengt Svedrell - Torsten Eriksson

Gert Nordh - Stefan Rossel

Arne Nilsson - Lars-Erik Ahlberg

Asta Johansson - Henry Johansson
Lars-Goran Niklasson - Marek Drukier
Karin Anderson - Tor Anderson

Bert Strandkvist - Magnus Aronsson
Mats Holm - Flemming Rasmussen
Orjan Odén - Anders Karlsson

Mats Adolfsson - Anders Bruze

Ingrid Ek - Leif Nilsson

Magnus Wegestal - Mikael Bjérkman
Gorgen Kier - Anders Sjogren

Trygve Fahlstedt - Bert Nordberg
Greta Persson - Lennart Hawi

Goran Gronvall - Jan Glucksman

Per Masback - Jonas Ohrn

Berny Thomsner - Magnus Wabhlstrém
Birgitta Edvardsson - Jan Edvardsson
Gunnel Rolander - Eva Bohlin

MID

42276
5538
20423
92066
20773
25801
17207
21351
94294
5632
5455
10690
79242
15960
25135
5765
39425
4385
85739
80306
11004
7053
5871
20525
39331
83325
36526
6380
94186
11672
49891
22803
85087
28295
37098
24751
2698
3638
17710
508
11758
7539
4753
84801
39967
27730
7891
36436
31219
504
13513
32632
411
14015
92260
4465
15866
30485
406
17265
49864
7232
40203
33500
35663
89485
7555
4581
5857
11361
3741
92547
4537
28909
4759
88813
91149
20821
83316
15752
3066
21830
87232
33274
27627

5773
6302
4668
19320
20772
29887
5757
21719
499
82831
21350
8467
6425
5791
6218
4541
38856
83885
22006
19992
12224
19011
30853
35574
93812
89269
28010
5896
20829
14816
50650
8612
92555
36202
37097
24753
963
20790
10267
521
4596
3733
84991
81642
26321
27723
14665
36437
31218
25726
4783
28410
79566
39188
4696
20855
89558
30727
49951
29785
84150
89099
40217
82598
36430
493
5690
4607
12677
500
417
29743
10707
78684
85484
10842
86138
82902
14399
88489
12216
20408
86448
10991
20187

Klubb

Hollvikens BK - Skanebridgens Vanners BK
LUCK

BK Tre Sang, Helsingborg
BK Tre Sang, Helsingborg
Bjarreds BK

Lunds BK - BK Zonen

BK S:t Gertrud

Munka Ljungby BS

SK Hakoah BS

Lunds BK

Munka Ljungby BS
Angelholms BS

Skurups BS

Malmo BK

Elistorps BK - Pri-Bri 1936
Videdals BK

BK Zonen

Lomma BK

BK ESS-lov

BK ESS-lov

BK Sekvens, S-torp
Sélvesborgs BK
Solvesborgs BK

Malmo BK

Munka Ljungby BS - Tidaholms BK
IFK Karlskrona - Lunds BK
BK Tre Sang, Helsingborg
Kullabygdens BK
Kristianstads BK
Sdlvesborgs BK
Kristianstads BK

Malmo BK

BK ESS-lov

Sodra Sandby BK - Lunds BK
Lunds BK

Bjarreds BK

Nasby IF:s BS - Kristianstads BK
Videdals BK - BK S:t Gertrud
Lunds BK - LUCK

BK Fenix - Ystads BS

BK S:t Gertrud - SK Hakoah BS
Ystads BS

Pri-Bri 1936

BK Zonen

Kristianstads BK

Malmé BK

Solvesborgs BK

BK Fenix

Kristianstads BK

Ystads BS

Lunds BK

BK ESS-lov

BK Sekvens, S-torp - Staffanstorps BK
Lomma BK - Lunds BK
Lunds BK

Malmd BK - Lunds BK
Sélvesborgs BK

Malmé BK - BS Oden

BK Sekvens, S-torp - Lunds BK
Karlshamns BK
Kristianstads BK
Kullabygdens BK

Malmo BK

Kullabygdens BK

BK Fenix

Ystads BS

Lomma BK

Bjarreds BK

Kristianstads BK

LUCK - SK Hakoah BS

BK Sekvens, S-torp

BK ESS-lév

BK S:t Gertrud - Videdals BK
Ystads BS

Malmo BK

BS 69

Ellstorps BK

Nasby IF:s BS - Kristianstads BK
Lomma BK

Kullabygdens BK

Malmo BK

Sodra Sandby BK

Bjarreds BK

BK Zonen

Malmé BK
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86 177 2265.2 46.27 Bjorn Stjarnfaldt - Eva Stjarnfalt 39196 39195 BK Fenix
87 171 2239.5 4574 Eva Bartosch - Anita Narfeldt 91472 41587 Lomma BK
88 73 2237.2 45.69 Carl-Magnus Kullendorff - Marianne Kullendorff 20793 20794 BK S:t Gertrud
89 176 2233.6 45.62 Agneta Svensson - Ulrik Svensson 4586 4587 Bjarreds BK
90 180 2229.5 45.54 Claes Thelandersson - Inger Lindberg 38977 6357 Malmo BK
91 69 22255 4546 Tord Olsson - Mats Idorn 1472 6064 Lomma BK - Bjarreds BK
92 72 2212.3 45.19 Marianne Andersson - Eva Landin 86117 86141 Ellistorps BK
93 105 2197.7 44.89 Monica Cederberg - Bengt Larsson 32769 19982 Lunds BK
94 111 2180.1 44.53 Dan Gustavsson - Annette Karlsson 24619 26680 BK Zonen
95 101 2179.9 44.52 Jan Eriksson - Jorgen Cohen 27765 92047 Malmo BK
96 205 2166.7 44.25 Inga Akerman - Torsten Akerman 87776 4615 Lomma BK
97 7 21523 43.96 Lars Becklén - Kent Hermansson 80419 94292 Pri-Bri 1936
98 65 21279 43.46 Staffan Lindberg - Christel Eklund 82137 21519 BK Tre Sang, Helsingborg
99 210 2121.5 43.33 Anita Brundin - Marianne Strandberg 26365 91483 BK Fenix
100 280 2110.0 43.10 Gunnar Wass - Rolf Carlsson 4544 15635 BK Zonen - Norrkdpingsbridgen
101 265 2079.0 42.46 Richard Korse - Svante Berglund 15157 6103 BK S:t Gertrud - Lunds BK
102 179 2061.0 42.10 Kjell Lévkvist - Hans-Arne Akesson 82092 38608 BK Tre Sang, Helsingborg
103 12 2034.5 4156 Torgil Ekman - Arne Hansson 84079 19433 Lunds BK
104 213 1963.4 40.10 Berit Elffors - Wiviann Hassel 27762 31668 Malmo BK
105 80 1817.9 37.13 Gunilla Ljung - Gun Tygesjo 15679 518  Sdderkulla BK
1 «D2 2 «ES5
Nord v 1086 Ost v 7632
Ingen + KD83 NS ¢ D43
#KD64 #Kn987
#1083 4975 Ly  KDKn96
vE5 v KDKn3 vKn v EK1084
¢ Kn97 ¢ E52 ¢ K92 + 86
#EKN975 #1083 #EKD106543 &2
« EKKn64 108732
v 9742 v D95
¢ 1064 ¢+ EKn1075
»2 »-
Par Kontr ut Res Poang Par Kontr ut Res Poang
74 7 2NDN = »3 490 102.0 0.0| 173 112 7NDV-5 s A 1100 102.0 0.0
205 278 3NN= »3 400 100.0 2.0 15 66 44 O-3 ¢ A 150 96.0 6.0
63 18 3v O-3 »2 150 94.0 8.0| 212 271 6NV-3 +Q 150 96.0 6.0
111 174 3NV -3 «Q 150 94.0 8.0| 265 264 3NV-3 v7 150 96.0 6.0
175 110 2NN +1 vK 150 94.0 8.0| 266 217 6NO-3 ¢ A 150 96.0 6.0
270 213 INN+2 vK 150 94.0 8.0 275 208 6# V-3 4 A 150 96.0 6.0
272 211 2v O-3 &K 150 94.0 8.0 11 70 5& O -2 s A 100 82.0 20.0
67 14 24 S+1 vA 140 88.0 14.0 73 8 3NV-2 +3 100 82.0 20.0
9 72 2NN= vK 120 82.0 20.0 74 7 3NV-2 a5 100 82.0 20.0
75 6 INN+1 vQ 120 82.0 20.0 75 6 3NO-2 v6 100 82.0 20.0
79 2 INN+1 vK 120 82.0 20.0( 106 179 5& V-2 4 A 100 82.0 20.0
102 104 INN+1 vK 120 82.0 200 169 116 64V -2 4 A 100 82.0 20.0
276 207 2NN= vK 120 82.0 20.0( 176 109 6V -2 +3 100 82.0 20.0
64 17 24 S= +9 110 69.0 33.0| 270 213 3NO-2 +8 100 82.0 20.0
76 5 24 S= vA 110 69.0 33.0| 272 211 4NV -2 +3 100 82.0 20.0
113 172 24 S= a8 110 69.0 33.0 3 78 3NV-1 v2 50 51.0 51.0
117 168 24 S= vA 110 69.0 33.0 63 18 6& V-1 4 A 50 51.0 51.0
166 163 24 S= vA 110 69.0 33.0 67 14 3NV -1 +3 50 51.0 51.0
171 114 24 N= vA 110 69.0 33.0 71 10 6 V-1 s A 50 51.0 51.0
178 107 24 S= ¢7 110 69.0 33.0 76 5 6#V-1 4 A 50 51.0 51.0
274 209 24 S= 43 110 69.0 33.0 79 2 3NV-1 +3 50 51.0 51.0
69 12 38 V-2 «Q 100 58.0 44.0| 102 104 6% V-1 s A 50 51.0 51.0
105 101 3&V-2 +Q 100 58.0 44.0| 113 172 6# V-1 4 A 50 51.0 51.0
216 267 2v O-2 »2 100 58.0 440| 117 168 5& V-1 v5 50 51.0 51.0
173 112 INN= vK 90 50.0 52.0( 167 118 3NV-1 +3 50 51.0 51.0
177 108 INN= vK 90 50.0 52.0| 170 115 5 V-1 ¢+ 4 50 51.0 51.0
265 264 INN= vK 90 50.0 52.0| 171 114 54 V-1 4 A 50 51.0 51.0
268 215 INN= vK 90 50.0 52.0( 175 110 6# V-1 s A 50 51.0 51.0
277 206 INN-= vK 90 50.0 52.0| 180 103 5# V-1 4 A 50 51.0 51.0
11 70 INV-1 a2 50 43.0 59.0| 204 279 6# V-1 4 A 50 51.0 51.0
15 66 3#0O-1 s A 50 43.0 59.0( 205 278 5&V-1 s A 50 51.0 51.0
73 8 Pass 36.0 66.0( 210 273 5&V-1 4 A 50 51.0 51.0
80 1 Pass 36.0 66.0 216 267 5& V-1 v7 50 51.0 51.0
106 179 Pass 36.0 66.0( 269 214 6&V-1 +Q 50 51.0 51.0
176 109 Pass 36.0 66.0( 274 209 3NV-1 +3 50 51.0 51.0
275 208 Pass 36.0 66.0( 276 207 3NV-1 v2 50 51.0 51.0
3 78 2NN-1 vK -50 24.0 78.0( 280 202 3NV-1 +3 50 51.0 51.0
4 77 1¢ N-1 vK -50 24.0 78.0| 166 163 44 V +1 +3 -150 28.0 74.0
68 13 2NN-1 vK -50 24.0 78.0 4 77 5% V= +3 -400 18.0 84.0
167 118 24 S-1 vA -50 24.0 78.0 9 72 5& V= +3 -400 18.0 84.0
169 116 34 S-1 ¢7 -50 24.0 78.0 68 13 3NV = v3 -400 18.0 84.0
180 103 24 S-1 vA -50 24.0 78.0 80 1 5&V= +3 -400 18.0 84.0
204 279 INN-1 vK -50 24.0 78.0( 105 101 3NV= v7 -400 18.0 84.0
165 164 INO= »2 -90 16.0 86.0| 111 174 5& V= 4 A -400 18.0 84.0
65 16 2NN -2 vK -100 9.0 93.0| 177 108 3NV= ¢A -400 18.0 84.0
71 10 3¢ N-2 vK -100 9.0 93.0| 178 107 3NV= v7 -400 18.0 84.0
170 115 3¢ N-2 &T -100 9.0 93.0| 277 206 3NV= v7 -400 18.0 84.0
210 273 2vS-2 *7 -100 9.0 93.0 64 17 3NV +1 v7 -430 5.0 97.0
212 271 3¢ N-2 vK -100 9.0 93.0 65 16 3NV +1 v3 -430 5.0 97.0
266 217 3NN-2 vK -100 9.0 93.0| 165 164 3NV +1 v2 -430 5.0 97.0
269 214 4¢ N-3 &T -150 1.0 101.0| 268 215 ANV = v7 -430 5.0 97.0
280 202 3NN-3 vQ -150 1.0 101.0 69 12 3NV +2 v7 -460 0.0 102.0
- 203 60.5 - 203 60.5
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3 «D 4 «E742
Syd v Kn1098 Vast v 862
oV + 1054 Alla ¢ Kn43
#KD864 #EKn4
49842 «KI10 «D653 K108
vEK43 vD762 v1075  vEKDKn943
¢D63 ¢ Kn872 o7 +108
#105 #4732 #KD983 #6
# EKn7653 «Kn9
v5 v-
¢ EK9 ¢ EKD9652
#EKn9 #10752
Par Kontr ut Res Poang Par Kontr ut Res Poang
277 208 44 S+1 vA 450 102.0 00| 271 214 5¢DS= &K 750 101.0 1.0
66 17 3NN+1 v2 430 93.0 9.0| 276 209 5¢DS= v5 750 101.0 1.0
169 112 3NN+1 v2 430 93.0 9.0 1 3 5¢ S= &K 600 90.8 11.2
173 108 3NN +1 v2 430 93.0 9.0 66 17 5¢ N= &K 600 90.8 11.2
206 279 3NN+1 v2 430 93.0 9.0 68 15 5¢ S= vT 600 90.8 11.2
267 264 3NN +1 v2 430 93.0 9.0 72 11 5¢ S= vT 600 90.8 11.2
271 214 3NN+1 v2 430 93.0 9.0 77 6 5¢ S= vT 600 90.8 11.2
273 212 3NS+1 vA 430 93.0 9.0| 168 113 5¢ S= v5 600 90.8 11.2
278 207 3NN+1 v6 430 93.0 9.0| 169 112 5¢ S= vT 600 90.8 11.2
1 3 44 S= vA 420 65.0 37.0| 270 215 5¢ S= v5 600 90.8 11.2
5 78 44 S= vA 420 65.0 37.0 16 67 5vDO-1 ¢A 200 79.5 22,5
10 73 4a4S= vA 420 65.0 37.0| 164 117 5vDO-1 +K 200 79.5 22.5
12 71 44 S= vA 420 65.0 37.0| 277 208 5vDO-1 ¢*A 200 79.5 22,5
16 67 44 S= a2 420 65.0 37.0| 213 272 4¢ S= vT 130 75.5 26.5
69 14 44 S= *3 420 65.0 37.0 70 13 4v 0O-1 *A 100 70.4 31.6
72 11 44 S= vA 420 65.0 37.0 80 2 5v0-1 *A 100 70.4 31.6
74 9 44 S= vA 420 65.0 37.0| 171 110 5vO-1 ¢A 100 70.4 31.6
75 8 44 S= vK 420 65.0 37.0| 176 105 4v V-1 v8 100 70.4 31.6
76 7 44 S= vA 420 65.0 37.0( 275 210 2v O+1 ¢*A -140 65.3 36.7
80 2 44 S= vA 420 65.0 37.0 12 71 3vO+1 ¢ K -170 59.2 42.8
104 177 44 S= vA 420 65.0 37.0 75 8 3vO+1 ¢ Q -170 59.2 42.8
111 170 44 S= vA 420 65.0 37.0( 104 177 3v O+1 ¢A -170 59.2 42.8
115 166 44 S= vA 420 65.0 37.0( 173 108 3v O+1 ¢A -170 59.2 42.8
163 118 44 S= vA 420 65.0 37.0( 266 265 3v O+1 *A -170 59.2 42.8
171 110 44 S= vK 420 65.0 37.0 10 73 3vO+2 ¢A -200 52.0 50.0
174 107 44 S= vK 420 65.0 37.0| 179 102 6¢DS-1 *K -200 52.0 50.0
211 274 44 S= vK 420 65.0 37.0| 175 106 54 N-5 vA -500 49.0 53.0
217 268 44 S= vK 420 65.0 37.0 4 79 4v 0= *A -620 31.6 70.4
270 215 44 S= vK 420 65.0 37.0 5 78 4v 0= ¢A -620 31.6 70.4
4 79 3NN= +8 400 42.0 60.0 65 18 4v O = *A -620 31.6 70.4
180 101 3NN= +6 400 42.0 60.0 69 14 4v O= ¢+ K -620 31.6 70.4
276 209 3NN= o7 400 42.0 60.0 74 9 4v O = ¢A -620 31.6 70.4
65 18 24 S+2 vK 170 35.0 67.0 76 7 4v O = *A -620 31.6 70.4
70 13 24 S+2 vA 170 35.0 67.0 103 178 4v O= *A -620 31.6 70.4
164 117 24 S+2 vA 170 35.0 67.0 163 118 4v O= ¢A -620 31.6 70.4
179 102 34 S+1 *T 170 35.0 67.0 165 116 4v O= *A -620 31.6 70.4
280 203 1« S+4 vA 150 30.0 72.0| 180 101 4v O= ¢*A -620 31.6 70.4
77 6 34 S= vA 140 23.0 79.0 202 204 4v O= ¢+ K -620 31.6 70.4
103 178 1 S+2 *T 140 23.0 79.0 206 279 4v O= *A -620 31.6 70.4
165 116 24 S+1 vK 140 23.0 79.0 211 274 4v O= ¢*A -620 31.6 70.4
168 113 34 S= vA 140 23.0 79.0 217 268 4v O= ¢+ K -620 31.6 70.4
202 204 34 S= vA 140 23.0 79.0 269 216 4v O= *A -620 31.6 70.4
266 265 34 S= vA 140 23.0 79.0 273 212 4v O= ¢+ K -620 31.6 70.4
64 63 1#S+3 vA 130 16.0 86.0( 111 170 4v O+1 ¢A -650 10.2 91.8
213 272 24 S= vK 110 14.0 88.0| 115 166 5v O= *A -650 10.2 91.8
109 172 44 S-1 vK -50 9.0 93.0( 174 107 4v O+1 *A -650 10.2 91.8
175 106 44 S-1 vA -50 9.0 93.0| 267 264 5v O= ¢A -650 10.2 91.8
269 216 34 S-1 vA -50 9.0 93.0( 278 207 4v O+1 *A -650 10.2 91.8
275 210 44 S-1 vA -50 9.0 93.0 64 63 4vDO= *A -790 3.1 98.9
68 15 44 S-2 vA -100 20 100.0( 167 114 4vDO= ¢A -790 3.1 98.9
167 114 6#S-2 vA -100 20 100.0 280 203 5vDO= *A -850 0.0 102.0
176 105 64 S-2 vK -100 20 100.0 | 205 - 46.5
205 - 46.5 109 172 =61,0/=41,0 61.0 41.0
5 a5 6 4 Kn86
Nord v 1063 Ost v10
NS ¢E76 ov ¢ D972
#EKDKnN93 #EKKn86
4 DKn108 «E942 4 KD1075 443
vKD842 v- v D92 v K764
+D ¢ KKn10432 ¢ E5 ¢ Kn1086
*742 #865 %943 »752
« K763 «E92
v EKn975 v EKn853
¢ 985 ¢ K43
«10 «D10
Par Kontr ut Res Poang Par Kontr ut Res Poang
110 173 5¢DO-5 &T 1100 102.0 00| 203 278 3NS+2 *A 460 101.0 1.0
11 74 3vyDS= ¢+ Q 730 100.0 20| 215 266 3NS+2 oK 460 101.0 1.0
2 4 3NN-= ¢3 600 92.0 10.0 13 72 3NS+1 3 430 92.0 10.0
17 68 3NN= 3 600 92.0 10.0 71 14 3NN+1 vJ 430 92.0 10.0
73 12 3NN= a2 600 92.0 10.0| 105 178 3NN+1 *J 430 92.0 10.0
101 103 3NS= +Q 600 92.0 10.0| 116 167 3NN+1 a4 430 92.0 10.0
165 118 3NN= *J 600 92.0 10.0| 268 213 3NS+1 oK 430 92.0 10.0
174 109 3NN-= *4 600 92.0 10.0| 274 207 3NS+1 oK 430 92.0 10.0
271 210 3NS= +Q 600 92.0 10.0| 276 205 3NS+1 5 430 92.0 10.0
264 217 44 O-4 &T 200 84.0 18.0 5 1 3NS= oK 400 73.0 29.0
66 63 INN+2 oT 150 81.0 21.0 75 10 3NS= oK 400 73.0 29.0
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112 171 3« N+2 oT 150 81.0 21.0 76 9 3NN= oK 400 73.0 29.0
71 14 3v S= ¢ Q 140 74.0 28.0 78 7 3NS= 5 400 73.0 29.0
78 7 3vS= «Q 140 74.0 28.0| 101 103 3NS= 5 400 73.0 29.0

172 111 3v S= *Q 140 74.0 28.0 104 179 3NS= oK 400 73.0 29.0

209 272 3v S= ¢+ Q 140 74.0 28.0| 168 115 3NS= &K 400 73.0 29.0

279 202 3v S= +Q 140 74.0 28.0| 175 108 3NS= oK 400 73.0 29.0

166 117 2# N+2 oT 130 66.0 36.0| 204 277 3NS= oK 400 73.0 29.0

168 115 2# N +2 *2 130 66.0 36.0| 211 270 3NS= +Q 400 73.0 29.0

276 205 3# N +1 a A 130 66.0 36.0| 264 217 3NS= oK 400 73.0 29.0

5 1 3&N= oT 110 57.0 45.0| 269 212 3NS= a2 400 73.0 29.0
67 18 3# N= & A 110 57.0 45.0 17 68 2N S +3 a5 210 60.0 42.0
75 10 2v S= +Q 110 57.0 45.0| 166 117 INS+3 &K 180 57.0 45.0

170 113 3&# N= & A 110 57.0 45.0 209 272 2NS+2 *9 180 57.0 45.0

175 108 3# N= oT 110 57.0 45.0| 271 210 2v S+2 &K 170 54.0 48.0

274 207 3%« N= +3 110 57.0 45.0 66 63 INN+2 a2 150 48.0 54.0

104 179 34 V-2 *A 100 49.0 53.0 67 18 2N S+1 oK 150 48.0 54.0

269 212 2¢ O-2 &T 100 49.0 53.0 112 171 2NS+1 oK 150 48.0 54.0
69 16 34 O-1 &T 50 43.0 59.0| 165 118 2NS+1 a7 150 48.0 54.0
76 9 3¢ V-1 &T 50 43.0 59.0| 267 214 2NS+1 oK 150 48.0 54.0

164 163 34 V-1 +K 50 43.0 59.0 170 113 2¢ S+2 oK 130 42.0 60.0

177 106 44 O-1 &T 50 43.0 59.0 70 15 2NS= oK 120 36.0 66.0
13 72 3# N-1 a2 -100 28.0 74.0 77 8 2NS= «Q 120 36.0 66.0
70 15 24 N-1 a4 -100 28.0 740| 164 163 2NN= a4 120 36.0 66.0

116 167 4v S-1 *Q -100 28.0 74.0| 169 114 INS+1 &K 120 36.0 66.0

169 114 4v S-1 ¢+ Q -100 28.0 74.0| 273 208 2NS= oK 120 36.0 66.0

180 102 3+« N-1 *4 -100 28.0 74.0 6 79 2v S= &K 110 27.0 75.0

203 278 4v S-1 *T -100 28.0 74.0 11 74 2v S= oK 110 27.0 75.0

204 277 3# N-1 &5 -100 28.0 740 110 173 3¢ N= a4 110 27.0 75.0

211 270 4v S-1 ¢ Q -100 28.0 740 172 111 2v S= ¢ A 110 27.0 75.0

215 266 4v S-1 +Q -100 28.0 74.0| 275 206 1la V-1 vT 100 22.0 80.0

265 216 5# N-1 *6 -100 28.0 74.0 65 64 2¢ S= oK 90 19.0 83.0

268 213 3NN-1 a4 -100 28.0 74.0 80 3 24 N= a4 90 19.0 83.0
65 64 4vDS-1 *Q -200 12.0 90.0 2 4 3NN-1 a4 -50 8.0 94.0
77 8 3NN-2 a2 -200 12.0 90.0 69 16 3NS-1 oK -50 8.0 94.0
80 3 4vS-2 ¢ Q -200 12.0 90.0 73 12 2vS-1 ¢ A -50 8.0 94.0

267 214 4v S-2 ¢+ Q -200 12.0 90.0 174 109 3NS-1 5 -50 8.0 94.0

273 208 2v S-2 ¢+ Q -200 12.0 90.0| 176 107 2v S-1 oK -50 8.0 94.0

6 79 5¢vDS-2 ¢+ Q -500 4.0 98.0( 177 106 3NS-1 &K -50 8.0 94.0

105 178 4vDS-2 ¢ Q -500 4.0 98.0| 180 102 4¢ S-1 oK -50 8.0 94.0

275 206 3vyDS-2 ¢+ Q -500 4.0 98.0 265 216 3NS-1 oK -50 8.0 94.0

176 107 4vDS-3 ¢ Q -800 0.0 102.0| 279 202 3NS-1 +Q -50 8.0 94.0

280 - 48.8 280 - 48.8

7 «D1072 8 « K973
Syd v K1076 Vast vE7542
Alla 495 Ingen + K3
#K95 83
4 KKn54 «86 4DKnl105 «E86
v2 v ED98543 v DKn8 v-
¢E874 #1102 ¢+ D754 ¢ EKn109862
#EKn84 72 *K2 #EKn9
«E93 42
vKn v K10963
¢ KDKn63 .-
+D1063 #D107654
Par Kontr ut Res Poéang Par Kontr ut Res Poang
79 8 3NDV -4 a2 1100 102.0 00| 279 210 44DV-3 vA 500 102.0 0.0
70 17 3NN= 8 600 100.0 2.0 3 5 44 V-2 vA 100 100.0 2.0

180 106 4vDO-2 ¢+ K 500 97.0 5.0 14 73 6¢ V-1 vA 50 93.0 9.0

280 205 4vyDV-2 ¢+ K 500 97.0 5.0 68 63 44 O-1 v3 50 93.0 9.0

101 111 24 V-3 +9 300 91.0 11.0| 109 103 3NV-1 v4 50 93.0 9.0

179 112 3NV-3 *9 300 91.0 11.0| 174 117 3NV-1 v4 50 93.0 9.0

265 270 4v O-3 ¢+ K 300 91.0 11.0| 178 113 3NV-1 v2 50 93.0 9.0

277 212 3v O-3 ¢+ K 300 91.0 11.0| 272 217 3NO-1 v3 50 93.0 9.0

6 2 4v O-2 ¢+ K 200 76.0 26.0 114 177 5v S-1 *Q -50 86.0 16.0
66 65 3vDO-1 ¢+ K 200 76.0 26.0 76 11 5v S-3 *Q -150 83.0 19.0
67 64 34DV-1 +9 200 76.0 26.0 7 10 4v N-3 ¢ A -150 83.0 19.0
76 11 2NV -2 *9 200 76.0 26.0 72 15 4¢ O+2 &7 -170 79.0 23.0

164 171 3vDO-1 ¢+ K 200 76.0 26.0 101 111 4¢ O+2 v3 -170 79.0 23.0

172 163 24 V-2 +5 200 76.0 26.0 67 64 5vDN-2 *A -300 74.0 28.0

204 206 3v O-2 ¢+ K 200 76.0 26.0 204 206 4vDN-2 *A -300 74.0 28.0

207 203 3vDO-1 ¢+ K 200 76.0 26.0 277 212 5vDN-2 ¢A -300 74.0 28.0

215 274 3v Q-2 ¢+ K 200 76.0 26.0 12 75 3NV = v4 -400 68.0 34.0

273 216 3v O-2 ¢+ K 200 76.0 26.0| 169 166 3NV= v5 -400 68.0 34.0

275 214 4v O-2 *J 200 76.0 26.0 275 214 3NV= v2 -400 68.0 34.0

279 210 2NN +1 8 150 64.0 38.0 6 2 56 O+1 v3 -420 52.0 50.0
68 63 INN+1 v9 120 58.0 44.0 18 69 5¢ O+1 v9 -420 52.0 50.0
74 13 INS+1 a4 120 58.0 44.0 79 8 5¢ O+1 *7 -420 52.0 50.0

108 104 INS+1 a4 120 58.0 44.0| 105 107 5¢ O+1 vK -420 52.0 50.0

168 167 2NN-= a5 120 58.0 440 164 171 5¢ O+1 v9 -420 52.0 50.0

174 117 2NN= v3 120 58.0 44.0| 170 165 5¢ O+1 *6 -420 52.0 50.0

271 264 2¢ S+1 v2 110 52.0 50.0 172 163 5¢ V+1 vA -420 52.0 50.0
77 10 4v O-1 ¢+ K 100 45.0 57.0 173 118 4e V= vA -420 52.0 50.0

102 110 3v O-1 ¢+ K 100 45.0 57.0( 176 115 5¢ O+1 vT -420 52.0 50.0

109 103 3v O-1 ¢+ K 100 45.0 57.0| 179 112 5¢ O+1 v3 -420 52.0 50.0

114 177 3v O-1 ¢+ K 100 45.0 57.0 208 202 5¢ O+1 vK -420 52.0 50.0

176 115 24 V-1 ¢9 100 45.0 57.0| 269 266 5¢ O+1 &T -420 52.0 50.0

278 211 2vO-1 3 100 45.0 57.0| 273 216 5¢ V+1 vA -420 52.0 50.0
12 75 2¢ S-1 v2 -100 32.0 70.0 74 13 3NV +1 v4 -430 37.0 65.0
78 9 24S-1 v2 -100 32.0 70.0| 271 264 3NV +1 v2 -430 37.0 65.0
80 4 INS-1 46 -100 32.0 70.0 78 9 5¢ O+2 a4 -440 32.0 70.0
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105 107 3NN-1 8 -100 32.0 70.0( 215 274 5¢ V+2 vA -440 32.0 70.0
170 165 2NN-1 48 -100 32.0 70.0 268 267 5¢ O+2 v3 -440 32.0 70.0
178 113 2NN-1 48 -100 32.0 70.0 70 17 3NV +2 v2 -460 25.0 77.0
213 276 3NN-1 48 -100 32.0 70.0( 102 110 3NV +2 v4 -460 25.0 77.0
18 69 2v O= ¢+ K -110 22.0 80.0| 108 104 3NV +2 v4 -460 25.0 77.0
71 16 2v O = +K -110 22.0 80.0| 213 276 3NV +2 v4 -460 25.0 77.0
208 202 2v O= ¢+ K -110 22.0 80.0 80 4 3N O +3 *6 -490 20.0 82.0
3 5 3v 0= ¢+ K -140 16.0 86.0 66 65 6vDN -3 4 A -500 17.0 85.0
169 166 3v O= ¢+ K -140 16.0 86.0 71 16 4vDN-3 *A -500 17.0 85.0
272 217 2v O+1 ¢+ K -140 16.0 86.0| 278 211 44DV= *9 -590 14.0 88.0
7 1 3NN-2 &7 -200 6.0 96.0| 116 175 6¢ O= &4 -920 10.0 92.0
14 73 2N S-2 a4 -200 6.0 96.0| 168 167 6¢ V= L X} -920 10.0 92.0
72 15 2¢ S-2 v2 -200 6.0 96.0| 207 203 6¢ O= v3 -920 10.0 92.0
116 175 24 S-2 v2 -200 6.0 96.0 7 1 66 O+1 v3 -940 5.0 97.0
173 118 3¢ S-2 v2 -200 6.0 96.0| 180 106 6¢ V+1 vA -940 5.0 97.0
268 267 2NS-2 &4 -200 6.0 96.0| 265 270 6¢DO= vK -1090 2.0 100.0
269 266 24 N-2 48 -200 6.0 96.0| 280 205 64DV +1 v9 -1190 0.0 102.0
- 209 53.4 - 209 53.4
9 464 10 « Kn96
Nord v D65 Ost v 9865
ov ¢ E10942 Alla ¢ KD982
D109 &K
4 K109852 4 ED73 aKD74 &-
vK v Kn98 vD32 v EKKnl07
4 853 + KKn7 ¢ E754 ¢ Kn
#743 *K52 294 #EDKnN8762
4 Kn « E108532
v E107432 v4
+ D6 + 1063
£#EKN86 #1053
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
107 101 44DV -3 v5 800 102.0 0.0| 276 215 6v O-2 s A 200 102.0 0.0
112 175 4vDS= a5 590 99.0 3.0| 273 264 34 0O +4 *T -190 100.0 2.0
272 265 4vDS= a5 590 99.0 3.0| 178 109 2v O+5 +3 -260 98.0 4.0
75 14 4v S+1 a2 450 96.0 6.0 4 6 5& QO +2 aA -640 94.0 8.0
13 76 4v S= 8 420 83.0 19.0 8 2 54 0+2 4 A -640 94.0 8.0
68 65 4v S= &7 420 83.0 19.0( 278 213 5& O +2 +3 -640 94.0 8.0
71 18 4v S= 49 420 83.0 19.0 7 3 3NV +2 ¢+ K -660 89.0 13.0
77 12 49 S= &K 420 83.0 19.0( 202 210 3NV +2 +8 -660 89.0 13.0
79 10 4v S= a5 420 83.0 19.0 68 65 4v O +2 a A -680 83.0 19.0
114 173 4v S= 49 420 83.0 19.0( 103 105 4v O +2 aA -680 83.0 19.0
172 115 4v S= +3 420 83.0 19.0( 166 165 4y O +2 4 A -680 83.0 19.0
214 277 4v S= a9 420 83.0 19.0( 216 275 4y O +2 aA -680 83.0 19.0
273 264 4v S= a5 420 83.0 19.0 67 66 4v O +3 *T -710 73.0 29.0
274 217 4v S= a5 420 83.0 19.0 77 12 5v O +2 +6 -710 73.0 29.0
276 215 4v S= &K 420 83.0 19.0 78 11 4v O +3 *T -710 73.0 29.0
280 206 4v S= a5 420 83.0 19.0( 171 116 4v O +3 aA -710 73.0 29.0
178 109 44 V-3 vA 300 70.0 32.0| 174 113 4y O+3 &T -710 73.0 29.0
1 9 34 V-2 v5 200 64.0 38.0| 176 111 4v O+3 +6 -710 73.0 29.0
4 6 44 O-2 vA 200 64.0 38.0 69 64 3NV +4 v8 -720 63.0 39.0
7 3 44DO-1 vA 200 64.0 38.0 72 17 3NV +4 +8 -720 63.0 39.0
176 111 44 O-2 a) 200 64.0 38.0 80 5 3NV +4 +8 -720 63.0 39.0
180 104 3v S+2 a5 200 64.0 38.0| 172 115 3NV +4 +Q -720 63.0 39.0
69 64 3v S+1 a5 170 55.0 47.0 63 70 64 O +1 +3 -1390 46.0 56.0
118 169 3v S+1 a5 170 55.0 47.0 71 18 6# O +1 aA -1390 46.0 56.0
167 164 3v S+1 49 170 55.0 47.0 75 14 64 O +1 *T -1390 46.0 56.0
208 204 3v S+1 a5 170 55.0 47.0 79 10 64 O +1 4 A -1390 46.0 56.0
67 66 44 O-1 vA 100 43.0 59.0( 114 173 64 O +1 a A -1390 46.0 56.0
80 5 44 O-1 *6 100 43.0 59.0| 167 164 6% O +1 v4 -1390 46.0 56.0
103 105 34 O-1 vA 100 43.0 590.0| 177 110 6% O +1 4 A -1390 46.0 56.0
174 113 34 O-1 vA 100 43.0 59.0( 208 204 6% O +1 aA -1390 46.0 56.0
209 203 34 O-1 »8 100 43.0 59.0| 209 203 6% O +1 &3 -1390 46.0 56.0
270 267 34 O-1 vA 100 43.0 59.0| 214 277 64 O+1 4 A -1390 46.0 56.0
278 213 44 O-1 &A 100 43.0 59.0( 269 268 6% O +1 a A -1390 46.0 56.0
279 212 34 V-1 46 100 43.0 59.0| 272 265 6% O +1 aA -1390 46.0 56.0
15 74 5v S-1 +8 -50 29.0 73.0( 280 206 6% O +1 v4 -1390 46.0 56.0
63 70 5v S-1 a5 -50 29.0 73.0( 170 117 6v O= s A -1430 32.0 70.0
78 11 5v S-1 vK -50 29.0 73.0 13 76 6v O +1 aA -1460 17.0 85.0
168 163 4v S-1 a2 -50 29.0 73.0 15 74 6v O +1 *T -1460 17.0 85.0
170 117 5v S-1 a2 -50 29.0 73.0 73 16 6v O +1 a A -1460 17.0 85.0
269 268 4v S-1 a2 -50 29.0 73.0( 106 102 6v O +1 aA -1460 17.0 85.0
106 102 5¢vDS-1 +8 -100 21.0 81.0| 107 101 6v O+1 +3 -1460 17.0 85.0
166 165 5v S-2 a2 -100 21.0 81.0| 112 175 6v O+1 *T -1460 17.0 85.0
73 16 24 V= v4 -110 18.0 84.0| 118 169 6v O+1 &T -1460 17.0 85.0
8 2 264 O+1 &6 -140 10.0 92.0| 168 163 6v O +1 4 A -1460 17.0 85.0
72 17 34 O= +Q -140 10.0 92.0| 179 108 6v O +1 a A -1460 17.0 85.0
171 116 24 O +1 v3 -140 10.0 92.0| 180 104 6v O+1 aA -1460 17.0 85.0
177 110 34 V= vQ -140 10.0 92.0| 205 207 6v O+1 4 A -1460 17.0 85.0
202 210 34 O= vA -140 10.0 92.0| 266 271 6v O+1 a A -1460 17.0 85.0
216 275 34 O= vA -140 10.0 92.0| 274 217 6v O+1 *T -1460 17.0 85.0
266 271 34 V= vQ -140 10.0 92.0( 279 212 6v O+1 4 A -1460 17.0 85.0
179 108 4vDS-2 8 -300 2.0 100.0 1 9 6NV +1 ¢+ K -1470 1.0 101.0
205 207 5¢vDS-4 a5 -800 0.0 102.0| 270 267 6NV +1 K -1470 1.0 101.0
- 211 55.3 - 211 55.3
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11 «E9 12 «E762
Syd v EKKn43 Vast v Kn109
Ingen ¢ D109 NS ¢+ ED105
#E65 #Kn10
4Kn84 &KD532 4 KKn108 4543
vD985 v102 v D865 v72
¢EB2 #Kn75 +8 + K973
#K83 #D109 #K854 #9632
» 1076 «D9
v 76 v EK43
¢ K643 ¢ Kn642
*Kn742 *ED7
Par Kontr ut Res Poang Par Kontr ut Res Poang
267 266 34 O-4 v7 200 102.0 0.0 74 17 B3NS +2 *4 660 97.0 5.0
271 216 1v N+3 vT 170 100.0 20| 101 109 3NS+2 8 660 97.0 5.0
1 11 24 O-3 v7 150 97.0 50 171 118 3NS+2 *4 660 97.0 5.0
203 205 34 O-3 v7 150 97.0 50| 203 205 3NS+2 v2 660 97.0 5.0
9 3 1v N+2 *9 140 91.0 11.0| 274 213 3NS+2 *4 660 97.0 5.0
16 75 3v N= &K 140 91.0 11.0| 277 210 3NS+2 v5 660 97.0 5.0
212 275 1v N+2 *9 140 91.0 11.0 1 11 3NS+1 &4 630 81.0 21.0
274 213 2v N+1 *9 140 91.0 11.0 8 4 3NN +1 ¢7 630 81.0 21.0
108 102 2NN = oK 120 86.0 16.0 69 66 3N S +1 v6 630 81.0 21.0
5 7 lv N+1 oK 110 73.0 29.0 78 13 3NS+1 v5 630 81.0 21.0
74 17 1v N+1 ¢7 110 73.0 29.0 107 103 3NS+1 oT 630 81.0 21.0
76 15 2v N= +5 110 73.0 29.0| 167 166 3NS+1 &5 630 81.0 21.0
78 13 2v N= 43 110 73.0 29.0 178 111 3NS+1 *4 630 81.0 21.0
101 109 1v N+1 oK 110 73.0 29.0 264 269 3NS+1 *4 630 81.0 21.0
115 174 1v N+1 a2 110 73.0 29.0 276 211 3NS+1 LX) 630 81.0 21.0
169 164 2v N= oK 110 73.0 29.0 279 208 3NS+1 *4 630 81.0 21.0
177 112 1v N+1 &T 110 73.0 29.0 278 209 4v S= &5 620 70.0 32.0
178 111 1v N+1 ¢5 110 73.0 29.0 2 10 3NS= L) 600 47.0 55.0
264 269 1v N+1 oK 110 73.0 29.0 9 3 3NN= oT 600 47.0 55.0
277 210 1v N+1 &K 110 73.0 29.0 14 77 3NS= a) 600 47.0 55.0
279 208 1v N+1 &K 110 73.0 29.0 16 75 3NS= +8 600 47.0 55.0
104 106 3« O-2 v6 100 56.0 46.0 64 71 3NN= LN 600 47.0 55.0
172 117 34 O-2 v6 100 56.0 46.0 76 15 3NN= v7 600 47.0 55.0
180 105 34 O-2 v7 100 56.0 46.0| 108 102 3NN= +3 600 47.0 55.0
276 211 24 O-2 v7 100 56.0 46.0 113 176 3NN= *2 600 47.0 55.0
280 204 34 O-2 v7 100 56.0 46.0| 115 174 3NS= 28 600 47.0 55.0
14 77 1y N= &K 80 46.0 56.0| 163 170 3NS= v5 600 47.0 55.0
72 63 1v N= vT 80 46.0 56.0| 168 165 3NS= v5 600 47.0 55.0
80 6 1lv N= &T 80 46.0 56.0 169 164 3NN= *4 600 47.0 55.0
107 103 1v N= a2 80 46.0 56.0| 175 114 3NN= *9 600 47.0 55.0
113 176 1v N= «Q 80 46.0 56.0| 179 110 3NS= oT 600 47.0 55.0
8 4 24 O-1 v7 50 37.0 65.0 180 105 3NN= *9 600 47.0 55.0
163 170 24 O-1 v7 50 37.0 65.0| 206 202 3NN-= +3 600 47.0 55.0
272 215 14 O-1 v7 50 37.0 65.0 212 275 3NS-= *4 600 47.0 55.0
278 209 24 O-1 v7 50 37.0 65.0 214 273 3NN= v7 600 47.0 55.0
2 10 2NN-1 &K -50 24.0 78.0| 267 266 3NN-= +3 600 47.0 55.0
64 71 INN-1 43 -50 24.0 78.0 271 216 3NN= *3 600 47.0 55.0
70 65 1v N-1 &K -50 24.0 78.0| 272 215 3NS-= oT 600 47.0 55.0
73 18 INN-1 3 -50 24.0 78.0| 280 204 3NS= &5 600 47.0 55.0
79 12 INS-1 a4 -50 24.0 78.0| 270 217 24 O-3 vK 150 24.0 78.0
168 165 1v N-1 43 -50 24.0 78.0 5 7 4v S-1 +8 -100 13.0 89.0
175 114 3+ S-1 L) -50 24.0 78.0 68 67 3NS-1 v5 -100 13.0 89.0
206 202 INN-1 43 -50 24.0 78.0 70 65 3NS-1 oK -100 13.0 89.0
270 217 3v N-1 oK -50 24.0 78.0 79 12 4v S-1 +8 -100 13.0 89.0
69 66 24 S -2 a2 -100 11.0 91.0 80 6 3NS-1 L) -100 13.0 89.0
173 116 3v N-2 oK -100 11.0 91.0| 104 106 3NN-1 43 -100 13.0 89.0
179 110 2NN-2 &K -100 11.0 91.0( 172 117 3NS-1 v5 -100 13.0 89.0
268 265 3v N-2 &K -100 11.0 91.0| 173 116 3¢ N-1 v7 -100 13.0 89.0
167 166 3v N-3 oK -150 4.0 98.0( 177 112 3NS-1 48 -100 13.0 89.0
171 118 4y N-3 a2 -150 4.0 98.0 268 265 3NS-1 L) -100 13.0 89.0
214 273 3v N-3 &K -150 4.0 98.0 72 63 3NS-2 +8 -200 1.0 101.0
68 67 4vyDN-2 oK -300 0.0 102.0 73 18 6NS-2 LN -200 1.0 1010
207 - 48.9 207 - 48.9
13 « EK103 14 #1063
Nord v 85 Ost v EDKn84
Alla ¢ DKn87 Ingen + E109
*K107 *43
4Kn85 4962 K2 4 EDKn
v K62 v Kn3 v K6 v32
¢+ EK4 + 109653 476432 ¢ DKn8
#EKn82 #943 #Kn875 #EKD96
«D74 98754
vED10974 v 10975
2 ¢ K5
#D65 #102
Par Kontr ut Res Poang Par Kontr ut Res Poang
179 118 4vDS+1 ¢+ A 990 102.0 0.0 2 12 3v O -4 49 200 102.0 0.0
172 169 4vDS= ¢+ K 790 99.0 30| 167 174 54 0-3 vT 150 99.0 3.0
264 277 4vDS= ¢ A 790 99.0 30| 172 169 3NO-3 48 150 99.0 3.0
175 166 3NN +3 3 690 96.0 6.0 268 273 3v N= &K 140 95.0 7.0
167 174 4v S+1 ¢ A 650 91.0 11.0 271 270 2v N+1 v3 140 95.0 7.0
176 165 4v S+1 ¢ A 650 91.0 11.0 17 76 5# 0O -2 vT 100 84.0 18.0
271 270 4y N+1 vJ 650 91.0 11.0 79 14 5% 0-2 49 100 84.0 18.0
272 269 4v S+1 ¢*A 650 91.0 11.0| 102 116 5#0-2 v5 100 84.0 18.0
105 113 3NN+1 ¢3 630 86.0 16.0| 105 113 5#0-2 vT 100 84.0 18.0
9 5 4v S= *A 620 77.0 25.0| 112 106 54 0O-2 vT 100 84.0 18.0
10 4 49 S= ¢A 620 77.0 25.0| 176 165 5#0O-2 vT 100 84.0 18.0
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15 78 4v N= 49 620 77.0 250 202 214 54 0-2 vT 100 84.0 18.0
163 178 4v N= *T 620 77.0 25.0| 207 209 5# O-2 »2 100 84.0 18.0
171 170 4v S= ¢+ K 620 77.0 250 280 208 3NO-2 49 100 84.0 18.0
210 206 4v S= ¢ A 620 77.0 25.0 9 5 3#0-1 vT 50 64.0 38.0
216 279 44 N= v] 620 77.0 25.0 15 78 44 0-1 vT 50 64.0 38.0
278 217 4v S= ¢A 620 77.0 25.0 65 72 44 0O -1 vT 50 64.0 38.0

2 12 3NN= *T 600 66.0 36.0 69 68 44 0O-1 vT 50 64.0 38.0

74 63 3NN= +6 600 66.0 36.0| 104 114 44+ 0-1 vT 50 64.0 38.0
108 110 3NN= T 600 66.0 36.0| 117 101 44 0-1 v9 50 64.0 38.0
274 267 INDV-2 +Q 500 62.0 40.0| 171 170 3NO-1 49 50 64.0 38.0

6 8 INV-4 v8 400 60.0 42.0| 274 267 44+ 0-1 vT 50 64.0 38.0
1 13 2v S+3 ¢A 200 54.0 48.0| 275 266 3% O-1 vT 50 64.0 38.0
177 164 2¢ O-2 +Q 200 54.0 48.0| 276 265 44 0O-1 v5 50 64.0 38.0
203 213 3v S+2 2 200 54.0 48.0| 278 217 44+ 0-1 ¢+ K 50 64.0 38.0
207 209 2v S+3 v2 200 54.0 48.0 6 8 3#0= vT -110 45.0 57.0
276 265 2v S+3 v2 200 54.0 48.0 75 18 34 0= vT -110 45.0 57.0
3 11 2v S+2 ¢ A 170 34.0 68.0| 173 168 3# O= vT -110 45.0 57.0

65 72 3v S+1 +K 170 34.0 68.0( 177 164 34 0= vT -110 45.0 57.0

75 18 2v S+2 *+ K 170 34.0 68.0( 180 109 2& O +1 &T -110 45.0 57.0

77 16 2v S+2 v2 170 34.0 68.0| 210 206 3# O= vT -110 45.0 57.0

79 14 2v S+2 ¢ A 170 34.0 68.0( 216 279 3#0-= v5 -110 45.0 57.0

80 7 2v S+2 ¢ A 170 34.0 68.0( 272 269 34 0= 49 -110 45.0 57.0
103 115 3v S+1 ¢ A 170 34.0 68.0 3 11 INO+1 a5 -120 35.0 67.0
104 114 2v S+2 +K 170 34.0 68.0( 203 213 INO+1 49 -120 35.0 67.0
111 107 2v S+2 *+ K 170 34.0 68.0( 108 110 24 O +2 vT -130 30.0 72.0
117 101 3v S+1 ¢ A 170 34.0 68.0| 111 107 3# O+1 48 -130 30.0 72.0
173 168 24 N +2 v] 170 34.0 68.0| 211 205 3# O +1 v5 -130 30.0 72.0
180 109 2v S+2 ¢ A 170 34.0 68.0 1 13 2NV +1 v] -150 25.0 77.0
202 214 2v S+2 ¢ A 170 34.0 68.0( 264 277 2NV +1 vA -150 25.0 77.0
268 273 2v S+2 +K 170 34.0 68.0 10 4 3NV= vQ -400 13.0 89.0
280 208 3v S+1 ¢ A 170 34.0 68.0 73 64 3NV = vA -400 13.0 89.0

17 76 2NN +1 +5 150 16.0 86.0 74 63 3NV = aT -400 13.0 89.0

73 64 2NN +1 *T 150 16.0 86.0 77 16 3NV = vA -400 13.0 89.0
112 106 2N N +1 *T 150 16.0 86.0 80 7 3NV= vA -400 13.0 89.0
204 212 3v S= ¢ A 140 11.0 91.0| 103 115 3NV= v] -400 13.0 89.0
211 205 2v S+1 +K 140 11.0 91.0( 163 178 3NV = vA -400 13.0 89.0

70 67 4v S-1 ¢ A -100 5.0 97.0| 175 166 3NV = vQ -400 13.0 89.0

71 66 34 N-1 #3 -100 5.0 97.0| 179 118 3NV= v4 -400 13.0 89.0
102 116 24 N-1 v] -100 5.0 97.0| 204 212 3NV= vA -400 13.0 89.0
275 266 3NN-1 ¢+5 -100 5.0 97.0 71 66 3N O +1 49 -430 2.0 100.0

69 68 4¢vDS-1 ¢+ K -200 0.0 102.0 70 67 3NO +2 a4 -460 0.0 102.0

- 215 49.8 - 215 49.8
15 # K52 16 #8732
Syd vKD4 Vast v K763
NS ¢+ E1063 ov + E854
D102 &8
410963 «ED74 4KD10 #E65
vKn10865 vE973 vEDKn5 v82
.7 + DKn2 97 410632
*E86 210543 &EK97
4 Kn8 4« Kn94
v2 v 1094
¢ K9854 ¢ KDKn
&KKn954 &#DKn62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
110 104 3NN-= a4 600 102.0 0.0 7 9 34DV-2 ¢ A 500 102.0 0.0
4 12 3¢ N+1 vA 130 97.0 5.0 16 79 3NV-3 3 300 98.0 4.0
203 215 3¢ N+1 vA 130 97.0 5.0 80 8 5#V-3 ¢ A 300 98.0 4.0
276 267 3¢ N+1 &7 130 97.0 50| 205 213 3NV-3 a2 300 98.0 4.0
277 266 34 N+1 vA 130 97.0 5.0 1 15 3NV -2 v6 200 85.0 17.0

16 79 INN+1 a4 120 90.0 12.0 10 6 3NO-2 ¢+ K 200 85.0 17.0
208 210 2NN= a4 120 90.0 12.0 11 5 3NO-2 ¢+ K 200 85.0 17.0
211 207 INN+1 a7 120 90.0 12.0 76 63 2NV -2 48 200 85.0 17.0

2 14 3¢ N= s A 110 83.0 19.0( 115 178 3NO-2 ¢+ K 200 85.0 17.0
109 105 3¢ N= &7 110 83.0 19.0( 117 176 3NO-2 ¢+ K 200 85.0 17.0
115 178 3¢ N= &7 110 83.0 19.0| 165 172 3NO-2 * K 200 85.0 17.0
177 116 2¢ N+1 v7 110 83.0 19.0( 175 118 3NV -2 3 200 85.0 17.0

3 13 4vDV-1 ¢ A 100 76.0 26.0( 179 114 3NV-2 v3 200 85.0 17.0

74 65 3v V-2 &2 100 76.0 260 276 267 3NO-2 *+ K 200 85.0 17.0
265 278 44D O-1 v2 100 76.0 26.0 2 14 34 O-1 ¢+ K 100 61.0 41.0

10 6 INN= a4 90 72.0 30.0 66 73 3#0-1 48 100 61.0 41.0

1 15 3v V-1 *A 50 66.0 36.0 74 65 3& V-1 48 100 61.0 41.0

66 73 3vO-1 2 50 66.0 36.0 78 17 2NV -1 2 100 61.0 41.0
169 168 2v V-1 *2 50 66.0 36.0| 102 112 2NV-1 48 100 61.0 41.0
180 107 4v V-1 *Q 50 66.0 36.0( 103 111 2NV-1 v3 100 61.0 41.0
205 213 3v O-1 ¢ A 50 66.0 36.0| 169 168 2NV-1 a3 100 61.0 41.0
106 108 3NN-1 a4 -100 59.0 43.0| 174 163 3#0-1 ¢+ K 100 61.0 41.0
117 176 4# S-1 *7 -100 59.0 43.0( 203 215 2NO-1 * K 100 61.0 41.0
103 111 2v V= ¢ A -110 54.0 48.0| 204 214 2NV-1 ¢+5 100 61.0 41.0
179 114 2v V= +3 -110 54.0 48.0| 208 210 3#0O-1 ¢+ K 100 61.0 41.0
202 216 2v O= +5 -110 54.0 48.0( 265 278 3NO-1 * K 100 61.0 41.0

18 77 3v V= a2 -140 44.0 58.0( 272 271 2NV-1 *4 100 61.0 41.0

75 64 3v O= a) -140 44.0 58.0| 273 270 3NO-1 ¢+ K 100 61.0 41.0

78 17 2v V +1 a2 -140 44.0 58.0( 173 164 Pass 46.0 56.0
102 112 2v V+1 +3 -140 44.0 58.0( 211 207 2¢ N-1 v8 -50 44.0 58.0
173 164 3v V= *2 -140 44.0 58.0 4 12 INO= ¢+ K -90 35.0 67.0
204 214 3v V= *Q -140 44.0 58.0 18 77 INO= aJ -90 35.0 67.0
273 270 2v V+1 ¢ A -140 44.0 58.0 71 68 2& V= 8 -90 35.0 67.0

70 69 2v V +2 ¢+ K -170 35.0 67.0 75 64 2& V= 8 -90 35.0 67.0
275 268 3v O+1 +9 -170 35.0 67.0| 109 105 2# V= v3 -90 35.0 67.0
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7 9 4¢ N-2 vA -200 25.0 77.0( 110 104 INV= +4 -90 35.0 67.0
11 5 3NN-2 ¢ Q -200 25.0 77.0| 277 266 INO= ¢+ K -90 35.0 67.0
71 68 5¢ N-2 vA -200 25.0 77.0| 280 209 INO= vT -90 35.0 67.0

165 172 5¢ N-2 vA -200 25.0 77.0 70 69 1&V +2 v6 -110 26.0 76.0
170 167 4¢ N-2 vA -200 25.0 77.0 3 13 2NO= ¢+ K -120 19.0 83.0
212 206 3¢DN-1 vA -200 25.0 77.0( 170 167 INO+1 *0Q -120 19.0 83.0
272 271 4¢DN-1 vA -200 25.0 77.0( 180 107 INO+1 ¢+ K -120 19.0 83.0
279 264 2NN-2 v7 -200 25.0 77.0( 202 216 INO+1 +Q -120 19.0 83.0
174 163 3NN-3 v3 -300 16.0 86.0| 269 274 2NV = v6 -120 19.0 83.0
72 67 3NS-4 vJ] -400 12.0 90.0| 279 264 INO +1 ¢+ K -120 19.0 83.0
80 8 3NN-4 v3 -400 12.0 90.0 72 67 INO +2 *6 -150 8.0 94.0
175 118 3NN-4 v3 -400 12.0 90.0| 101 113 INO+2 »2 -150 8.0 94.0
76 63 5¢DN-2 s A -500 5.0 97.0| 106 108 1INO +2 &6 -150 8.0 94.0
101 113 4¢DN-2 vA -500 5.0 97.0| 177 116 INO+2 *+ K -150 8.0 94.0
269 274 54D S -2 *7 -500 5.0 97.0| 212 206 2NO +1 »2 -150 8.0 94.0
280 209 5¢DN-2 vA -500 5.0 97.0| 171 166 INO +3 ¢+ K -180 2.0 100.0
171 166 3NDN -3 a7 -800 0.0 102.0| 275 268 3NV +1 *4 -630 0.0 102.0
217 - 55.1 217 - 55.1
17 473 18 # K9843
Nord vKn43 Ost v D94
Ingen + 10973 NS ¢ EKn8
#EK62 K7
aD42 4105 4Kn75 &ED
vEK92 vD8765 v 63 v 1085
+ D652 ¢ K84 ¢+ D7642 ¢ K103
*43 «D97 »E86 #D9543
« EKKNn986 1062
v10 v EKKn72
¢ EKn ¢ 95
#Kn1085 #Kn102
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
116 179 44 S= vK 420 102.0 0.0 5 13 5¢DO-3 vA 500 102.0 0.0
172 167 4vDO-2 &K 300 100.0 2.0 79 18 54D O -2 vA 300 100.0 2.0
107 109 34 S+1 vA 170 97.0 5.0 80 9 34 N+1 &5 170 92.0 10.0
202 212 24 S+2 vA 170 97.0 5.0| 102 114 24 N+2 +3 170 92.0 10.0
4 14 34 S= vA 140 64.0 38.0( 104 112 3v S+1 A 170 92.0 10.0
5 13 24 S+1 vA 140 64.0 38.0| 175 164 2v S+2 L X} 170 92.0 10.0
8 10 24 S+1 vA 140 64.0 38.0| 209 205 2v S+2 45 170 92.0 10.0
12 6 34 S= vA 140 64.0 38.0( 273 266 24 N+2 &3 170 92.0 10.0
17 1 24 S+1 vA 140 64.0 38.0| 274 265 24 N+2 &5 170 92.0 10.0
63 78 24 S+1 vA 140 64.0 38.0| 107 109 INS+2 *2 150 83.0 19.0
71 70 34 S= vA 140 64.0 38.0( 116 179 3¢ V-3 v4 150 83.0 19.0
72 69 34 S= vK 140 64.0 38.0 3 15 3v S= »8 140 58.0 44.0
75 66 24 S +1 vK 140 64.0 38.0 8 10 2v S+1 &A 140 58.0 44.0
76 65 34 S= vA 140 64.0 38.0 11 7 34 N= &3 140 58.0 44.0
80 9 24 S+1 vA 140 64.0 38.0 12 6 3vS= A 140 58.0 44.0
101 115 24 S+1 vA 140 64.0 38.0 17 1 24 N+1 &2 140 58.0 44.0
104 112 24 S+1 vA 140 64.0 38.0 63 78 24 N +1 vT 140 58.0 44.0
110 106 24 S+1 vA 140 64.0 38.0 71 70 2v S+1 &A 140 58.0 44.0
111 105 34 S= vK 140 64.0 38.0 76 65 3v S= A 140 58.0 44.0
166 173 24 S+1 vK 140 64.0 38.0( 101 115 34 N= +3 140 58.0 44.0
170 169 24 S+1 vA 140 64.0 38.0| 110 106 34 N= &5 140 58.0 44.0
171 168 24 S+1 &4 140 64.0 38.0| 111 105 24 N+1 *+K 140 58.0 44.0
174 165 24 S+1 &4 140 64.0 38.0( 118 177 2v S+1 &8 140 58.0 44.0
175 164 24 S+1 vA 140 64.0 38.0| 166 173 2v S+1 &A 140 58.0 44.0
176 163 24 S+1 vA 140 64.0 38.0| 170 169 3v S= +6 140 58.0 44.0
178 117 24 S+1 vA 140 64.0 38.0( 171 168 3v S= A 140 58.0 44.0
180 108 34 S= vK 140 64.0 38.0| 176 163 24 N+1 +3 140 58.0 44.0
203 211 24 S+1 vA 140 64.0 38.0| 180 108 24 N+1 v6 140 58.0 44.0
209 205 24 S+1 vK 140 64.0 38.0( 203 211 2v S+1 42 140 58.0 44.0
215 278 34 S= vA 140 64.0 38.0| 206 208 34 N= +3 140 58.0 44.0
270 269 24 S+1 &4 140 64.0 38.0| 215 278 3v S= »8 140 58.0 44.0
271 268 34 S= vA 140 64.0 38.0( 267 272 2v S+1 &A 140 58.0 44.0
273 266 34 S= vK 140 64.0 38.0| 271 268 2v S+1 &A 140 58.0 44.0
274 265 34 S= vA 140 64.0 38.0| 279 214 24 N+1 v8 140 58.0 44.0
277 216 24 S+1 vA 140 64.0 38.0 4 14 24 N= *T 110 31.0 71.0
217 276 2# S +2 vA 130 32.0 70.0 67 74 24 N= vT 110 31.0 71.0

3 15 3v O -2 s A 100 29.0 73.0( 270 269 2v S= v6 110 31.0 71.0
210 204 4v O-2 *A 100 29.0 73.0| 275 264 24 N= +3 110 31.0 71.0
2 16 44 S-1 vA -50 14.0 88.0 73 68 1INV -2 a4 100 26.0 76.0
11 7 34 S-1 vA -50 14.0 88.0| 174 165 INS= +4 90 24.0 78.0
67 74 44 S-1 vA -50 14.0 88.0 2 16 INV-1 43 50 21.0 81.0
77 64 44 S-1 vA -50 14.0 88.0| 172 167 3¢ V-1 vQ 50 21.0 81.0
79 18 44 S-1 vK -50 14.0 88.0| 103 113 3v S-1 2 -100 14.0 88.0
102 114 INN-1 v4 -50 14.0 88.0( 202 212 4v S-1 42 -100 14.0 88.0
103 113 44 S-1 vA -50 14.0 88.0| 217 276 3v S-1 A -100 14.0 88.0
118 177 34 S-1 vA -50 14.0 88.0| 277 216 3v S-1 +3 -100 14.0 88.0
206 208 44 S-1 vA -50 14.0 88.0| 280 207 34 N-1 &3 -100 14.0 88.0
267 272 44 S-1 vK -50 14.0 88.0 72 69 3# 0= vK -110 7.0 95.0
275 264 34 S-1 vA -50 14.0 88.0| 178 117 3¢ V= 43 -110 7.0 95.0
279 214 44 S-1 vA -50 14.0 88.0 75 66 44 S-2 &3 -200 2.0 100.0
280 207 44 S-1 vK -50 14.0 88.0 77 64 3v S-2 2 -200 2.0 100.0
73 68 44 S-2 vK -100 0.0 102.0| 210 204 44 N-2 *3 -200 2.0 100.0

- 213 31.6 - 213 31.6
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19 « DKn53 20 « DKn83
Syd v 854 Vast vK
ov ¢+ KD Alla ¢ K7532
#DKn52 #432
a72 + 96 «E764 & K105
vEKDKn3 v 106 v7 ¥ Kn106542
¢ Kn7 ¢ E1096542 ¢ EKn ¢ 964
*EK86 *97 #DKn9875 6
« EK1084 92
v 972 v ED983
+83 + D108
#1043 #EK10
Par Kontr ut Res Poang Par Kontr ut Res Poang
18 2 4v V-2 ¢+ K 200 101.0 1.0 64 79 3¢DO-4 49 1100 102.0 0.0
166 102 4y V-2 v4 200 101.0 10| 277 270 24DO-3 vK 800 100.0 2.0
9 11 4v V-1 ¢ K 100 94.0 80| 166 102 3NS+3 *7 690 98.0 4.0
12 8 3NV-1 43 100 94.0 8.0 1 63 3NS= *Q 600 95.0 7.0
174 173 5¢ O-1 & A 100 94.0 8.0 78 65 3NS= &7 600 95.0 7.0
176 171 4v V-1 ¢ Q 100 94.0 80| 103 165 24 V-4 *2 400 89.0 13.0
279 268 3NO-1 oA 100 94.0 80| 180 112 34 V-4 *2 400 89.0 13.0
170 177 24 S-1 vA -50 87.0 150 275 272 34 V-4 o7 400 89.0 13.0
277 270 24 S-1 vK -50 87.0 150| 280 211 2vO-4 49 400 89.0 13.0
175 172 34 S-2 vK -100 82.0 200 175 172 14 V-3 vK 300 78.0 24.0
213 209 24 S-2 vK -100 82.0 20.0 204 264 34 V-3 ¢2 300 78.0 24.0
214 208 34 S-2 vA -100 82.0 20.0| 207 215 2NV -3 *2 300 78.0 24.0
3 17 1v V+1 *2 -110 78.0 240 210 212 2NV-3 ¢3 300 78.0 24.0
13 7 4¢ O= & A -130 68.0 340| 213 209 2v O-3 *A 300 78.0 24.0
76 67 44 O= LY -130 68.0 34.0| 214 208 2v O-3 *A 300 78.0 24.0
77 66 3¢ O+1 LY -130 68.0 34.0| 274 273 2v O-3 &K 300 78.0 24.0
101 167 2¢ O+2 & A -130 68.0 34.0 18 2 INO-2 v8 200 65.0 37.0
106 118 3¢ O +1 a A -130 68.0 34.0| 101 167 3#V-2 vK 200 65.0 37.0
107 117 3¢ O+1 oA -130 68.0 34.0| 105 163 24 V-2 ¢2 200 65.0 37.0
205 217 3¢ O+1 &K -130 68.0 34.0| 107 117 2v O-2 &K 200 65.0 37.0
274 273 3¢ O+1 &K -130 68.0 34.0| 164 104 2NV -2 +Q 200 65.0 37.0
280 211 3¢ O+1 oA -130 68.0 34.0| 265 203 24 V-2 vK 200 65.0 37.0
1 63 1lvV+2 ¢+ K -140 39.0 63.0 114 110 2NS+1 *Q 150 57.0 45.0
4 16 2¢vV+l 45 -140 39.0 63.0| 206 216 2NS+1 *Q 150 57.0 45.0
6 14 3v V= «Q -140 39.0 63.0 176 171 3¢ N+1 *6 130 52.0 50.0
68 75 1y V+2 ¢+ K -140 39.0 63.0 179 168 2¢ N+2 *6 130 52.0 50.0
72 71 1y V+2 45 -140 39.0 63.0 202 266 3¢ N+1 aK 130 52.0 50.0
73 70 2v V+1 ¢+ K -140 39.0 63.0 3 17 2NS= *Q 120 44.0 58.0
74 69 3v V= ¢ K -140 39.0 63.0 5 15 2NS= *Q 120 44.0 58.0
78 65 3v V= +Q -140 39.0 63.0 6 14 INS+1 *Q 120 44.0 58.0
80 10 1v V+2 43 -140 39.0 63.0 74 69 2NS= LN 120 44.0 58.0
108 116 1v V+2 ¢+ K -140 39.0 63.0 108 116 INS+1 *Q 120 44.0 58.0
114 110 1lv VvV +2 ¢ K -140 39.0 63.0 73 70 3¢ N= *6 110 37.0 65.0
164 104 3v O= «Q -140 39.0 63.0 278 269 3¢ N= *6 110 37.0 65.0
178 169 2v V+1 ¢+ K -140 39.0 63.0 4 16 24 V-1 vK 100 30.0 72.0
179 168 1v V+2 ¢ K -140 39.0 63.0 13 7 2v0O-1 *A 100 30.0 72.0
202 266 1v V+2 ¢+ Q -140 39.0 63.0 68 75 1la V-1 vK 100 30.0 72.0
204 264 1v V+2 ¢+ K -140 39.0 63.0 174 173 24 V-1 ¢2 100 30.0 72.0
206 216 3v V= v3 -140 39.0 63.0( 178 169 24 O-1 +8 100 30.0 72.0
207 215 3v O= ¢+ K -140 39.0 63.0 72 71 2¢ N= *6 90 24.0 78.0
210 212 3y V= ¢+ K -140 39.0 63.0 76 67 3¢ N-1 *6 -100 19.0 83.0
278 269 1v V+2 *5 -140 39.0 63.0 111 113 3NS-1 *Q -100 19.0 83.0
115 109 34 S-3 vA -150 17.0 85.0| 115 109 2v N-1 *6 -100 19.0 83.0
180 112 44 S-3 *A -150 17.0 85.0| 279 268 2v S-1 ¢A -100 19.0 83.0
103 165 1v V+3 &3 -170 12.0 90.0| 271 276 24 V= vK -110 14.0 88.0
111 113 1v V+3 *2 -170 12.0 90.0 80 10 1la V+2 ¢2 -140 11.0 91.0
265 203 1v V+3 ¢+ K -170 12.0 90.0| 106 118 24 V+1 3 -140 11.0 91.0
64 79 54 S-4 vA -200 8.0 94.0 9 11 3¢ N-2 *8 -200 5.0 97.0
271 276 44DN-2 vT -300 6.0 96.0 12 8 3NS-2 LN -200 5.0 97.0
5 15 4v V= +Q -620 20 100.0 77 66 2v S-2 +Q -200 5.0 97.0
105 163 4v V= +Q -620 20 1000| 170 177 34 S-2 v7 -200 5.0 97.0
275 272 4y V= a5 -620 20 1000 205 217 2NS-3 *Q -300 0.0 102.0
267 - 51.0 267 - 51.0
21 « K1098743 22 a7
Nord vK6 Ost v EKn5
NS ¢73 ov ¢ K987
«D10 108752
4EKNG6 o- ~E4 « KDKn653
v8532 vEI10 v 106 v D732
+84 ¢ EKn10962 ¢EB54 2
#K764 498532 #ED963 #K4
& D52 « 10982
v DKn974 v K984
¢ KD5 ¢ DKn103
#EKn #Kn
Par Kontr ut Res Poang Par Kontr ut Res Poang
5 17 44 N= *A 620 96.0 6.0 205 265 64 O-2 *Q 200 102.0 0.0
69 76 44 N= ¢A 620 96.0 6.0 2 64 640-1 v4 100 98.0 4.0
109 111 44 N= ¢ A 620 96.0 6.0 14 8 54 O-1 ¢+ Q 100 98.0 4.0
112 108 4« N= *A 620 96.0 60| 113 107 44 O-1 *Q 100 98.0 4.0
178 165 44 N= vA 620 96.0 6.0 109 111 24 O+2 LN -170 93.0 9.0
206 264 44 N= ¢ A 620 96.0 6.0 211 213 34 O+1 ¢+ Q -170 93.0 9.0
268 202 44 N= vA 620 96.0 6.0 266 204 2NV +2 *2 -180 90.0 12.0
2 64 3NO-6 +Q 300 88.0 140 106 114 14 O+4 *) -200 88.0 14.0
278 271 3NO-5 a2 250 86.0 16.0 5 17 44 O = *) -620 66.0 36.0
13 9 2NS+2 *6 180 84.0 18.0 6 16 44 O= *J -620 66.0 36.0
211 213 34 N+1 ¢A 170 82.0 20.0 63 3 44 O= *] -620 66.0 36.0
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10 12 24 S+1 +8 140 75.0 27.0 65 1 44 O= LN -620 66.0 36.0
73 72 34 N= ¢ A 140 75.0 27.0 75 70 44 O= ¢+ Q -620 66.0 36.0
80 11 34 S= vA 140 75.0 27.0 7 68 44 O= +Q -620 66.0 36.0
172 171 34 N= ¢A 140 75.0 27.0 80 11 44 O= tN) -620 66.0 36.0
214 210 2v S+1 +8 140 75.0 27.0| 105 115 44 O= *) -620 66.0 36.0
279 270 34 N= vA 140 75.0 27.0| 118 102 44 O= LN -620 66.0 36.0
103 117 24 N= 8 110 68.0 340 164 179 44 O= 49 -620 66.0 36.0
63 3 5¢DO-1 a2 100 59.0 43.0| 172 171 44 O= ¢J -620 66.0 36.0
104 116 5¢DO-1 vQ 100 59.0 43.0| 178 165 4e V= +Q -620 66.0 36.0
106 114 5¢DO-1 «Q 100 59.0 43.0| 203 267 44 O= ¢+ Q -620 66.0 36.0
113 107 54D O -1 a2 100 59.0 43.0| 206 264 44 O= ¢ Q -620 66.0 36.0
164 179 4¢DO-1 vQ 100 59.0 43.0| 208 216 44 O= LN -620 66.0 36.0
168 175 5¢DO-1 *A 100 59.0 43.0| 214 210 44 O= *) -620 66.0 36.0
207 217 5#DV-1 o7 100 59.0 43.0| 275 274 44 O= *) -620 66.0 36.0
280 212 44#DV-1 3 100 59.0 43.0| 276 273 44 O= +Q -620 66.0 36.0
177 166 5# V-1 *3 50 50.0 52.0| 278 271 44 O= tN) -620 66.0 36.0
7 15 44 N-1 ¢ A -100 38.0 64.0 279 270 44 O= *) -620 66.0 36.0
14 8 44 N-1 vA -100 38.0 64.0| 280 212 44 O= +Q -620 66.0 36.0
75 70 44 N-1 ¢A -100 38.0 64.0 10 12 3NV +1 *2 -630 42.0 60.0
77 68 44 N-1 vA -100 38.0 64.0 78 67 3NV +1 ¢7 -630 42.0 60.0
101 163 44 N-1 &5 -100 38.0 64.0| 180 110 3NV +1 *2 -630 42.0 60.0
118 102 44 N-1 ¢A -100 38.0 64.0 4 18 44 O +1 *J -650 24.0 78.0
173 170 44 N-1 ¢ A -100 38.0 64.0 13 9 44 O+1 *] -650 24.0 78.0
176 167 44 N-1 *9 -100 38.0 64.0 74 71 44 O+1 *J -650 24.0 78.0
205 265 54 N-1 vA -100 38.0 64.0 79 66 44 O +1 *J -650 24.0 78.0
208 216 44 N-1 *2 -100 38.0 64.0| 101 163 44 O+1 *] -650 24.0 78.0
266 204 44 S-1 +8 -100 38.0 64.0 103 117 44 O+1 *J -650 24.0 78.0
79 66 44DN-1 ¢A -200 23.0 79.0| 104 116 44 O+1 +Q -650 24.0 78.0
105 115 54 N-2 ¢ A -200 23.0 79.0| 112 108 44 O+1 LN -650 24.0 78.0
174 169 54 S-2 &5 -200 23.0 79.0| 168 175 44 O+1 *J -650 24.0 78.0
272 277 44 N-2 *9 -200 23.0 79.0| 173 170 44 O+1 +Q -650 24.0 78.0
65 1 540= +Q -400 17.0 85.0( 174 169 44 O+1 ¢ Q -650 24.0 78.0
78 67 5 V= vK -400 17.0 85.0| 176 167 44 O+1 LN -650 24.0 78.0
203 267 4#DO= a2 -510 14.0 88.0| 177 166 44 O+1 LX) -650 24.0 78.0
4 18 54DV = a7 -550 7.0 95.0( 215 209 44 O+1 *) -650 24.0 78.0
6 16 5¢4DO= «Q -550 7.0 95.0| 268 202 44 O+1 +Q -650 24.0 78.0
74 71 54D O = 48 -550 7.0 95.0 7 15 3NV +2 3 -660 7.0 95.0
215 209 54DV = vK -550 7.0 95.0 69 76 3NV +2 v5 -660 7.0 95.0
275 274 5#DO= a2 -550 7.0 95.0 73 72 44 O +2 +Q -680 2.0 100.0
276 273 5#DO= a2 -550 7.0 95.0| 207 217 44 O+2 LN -680 20 100.0
180 110 54DN-3 ¢ A -800 0.0 102.0| 272 277 44 O+2 +Q -680 20 100.0
- 269 41.4 - 269 41.4
23 4873 24 4 KD72
Syd v73 Vast v K9
Alla ¢ Kn10654 Ingen ¢ D43
852 #DKn105
4109654 4ED2 495 4 Knl04
vKn9654 vED10 vKnl083 v654
¢ E9 +83 ¢ E105 ¢ KKn82
&K #ED1093 #E872 #K93
& KKn » E863
v K82 vED72
¢ KD72 4976
#Kn764 »64
Par Kontr ut Res Poéang Par Kontr ut Res Poang
163 103 3+ 0-2 ¢+ K 200 101.0 10 11 13 34 N+1 3 170 95.0 7.0
212 208 6v V-2 +5 200 101.0 1.0 78 69 34 N+1 v6 170 95.0 7.0
110 112 3+ 0-1 ¢+ K 100 96.0 6.0 165 101 34 N+1 a4 170 95.0 7.0
270 275 3#0-1 ¢+ Q 100 96.0 6.0 173 172 34 N+1 oT 170 95.0 7.0
273 272 6y V-1 +J 100 96.0 6.0 178 167 34 N+1 v6 170 95.0 7.0
206 214 INS-1 v5 -100 92.0 10.0| 264 202 34 N+1 a4 170 95.0 7.0
280 210 2% O +2 +K -130 90.0 12.0| 266 279 34 N+1 v6 170 95.0 7.0
177 168 1v V +2 vJ -140 88.0 14.0| 277 268 24 N +2 v6 170 95.0 7.0
66 2 2NO+1 *6 -150 86.0 16.0| 274 271 2NN+1 &3 150 86.0 16.0
7 17 24 V+2 v7 -170 78.0 24.0 1 67 24 N+1 a4 140 78.0 24.0
15 9 2v V+2 +J -170 78.0 24.0 3 65 34 N= v6 140 78.0 24.0
75 72 24V +2 v7 -170 78.0 24.0 80 12 34 N= v6 140 78.0 24.0
107 115 34 O+1 *6 -170 78.0 240| 169 176 34 N= T 140 78.0 24.0
114 108 2v V +2 +J -170 78.0 240 175 170 24 N+1 a4 140 78.0 24.0
169 176 2v V+2 3 -170 78.0 240 204 216 34 N= v5 140 78.0 24.0
274 271 34 O+1 +K -170 78.0 240 206 214 24 N+1 v6 140 78.0 24.0
74 73 3y V+2 +J -200 64.0 38.0 8 16 24 N= v4 110 60.0 42.0
76 71 24 V+3 +5 -200 64.0 38.0 15 9 24 N= *2 110 60.0 42.0
165 101 1aS-2 oT -200 64.0 38.0 64 4 24 N= v4 110 60.0 42.0
173 172 34 V+2 +6 -200 64.0 38.0 70 77 24 N= v5 110 60.0 42.0
209 211 14 S-2 T -200 64.0 38.0 74 73 24 N= *2 110 60.0 42.0
213 207 2v O+3 +K -200 64.0 38.0 75 72 24 N= +8 110 60.0 42.0
278 267 3v V+2 *2 -200 64.0 38.0 104 118 24 N= v6 110 60.0 42.0
113 109 1+ S-3 *A -300 55.0 47.0| 177 168 24 N= a4 110 60.0 42.0
174 171 1+S-3 ¢A -300 55.0 47.0( 209 211 24 N= ¢2 110 60.0 42.0
3 65 4v V= +4 -620 43.0 59.0| 273 272 24 N= 3 110 60.0 42.0
64 4 4v V= *J -620 43.0 59.0 276 269 24 N= +8 110 60.0 42.0
79 68 4a V= *J -620 43.0 59.0 5 63 44 N-1 a4 -50 37.0 65.0
102 164 4v O= ¢+ K -620 43.0 59.0 6 18 34 N-1 v4 -50 37.0 65.0
180 111 4e V= *4 -620 43.0 59.0 14 10 34 N-1 L) -50 37.0 65.0
203 217 44 O= ¢+ K -620 43.0 59.0 76 71 34 N-1 3 -50 37.0 65.0
205 215 4v O= +J -620 43.0 59.0| 102 164 34 N-1 2 -50 37.0 65.0
266 279 4y V= *4 -620 43.0 59.0 107 115 34 N-1 *2 -50 37.0 65.0
276 269 4y V= ¢5 -620 43.0 59.0| 110 112 24 N-1 v5 -50 37.0 65.0
277 268 4y V= +J -620 43.0 59.0| 113 109 34 N-1 2 -50 37.0 65.0
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6 18 4v V+1 8 -650 19.0 83.0| 114 108 N -1 -50 37.0 65.0
8 16 44 O +1 &4 -650 19.0 83.0| 203 217 N -1 -50 37.0 65.0
11 13 44 V+1 v7 -650 19.0 83.0| 205 215 N -1 -50 37.0 65.0
14 10 4v V+1 +J -650 19.0 83.0| 278 267 N-1 -50 37.0 65.0
70 77 4v V+1 8 -650 19.0 83.0 7 17 N -2 -100 12.0 90.0
78 69 4v V+1 *J -650 19.0 83.0 66 2 N -2 -100 12.0 90.0
104 118 4v V+1 ¢J -650 19.0 83.0 79 68 N -2 -100 12.0 90.0
105 117 44 V+1 ¢J -650 19.0 83.0| 105 117 N -2 -100 12.0 90.0
106 116 4e V+1 v7 -650 19.0 83.0| 106 116 N -2 -100 12.0 90.0
175 170 44 O +1 ¢+ K -650 19.0 83.0| 163 103 N -2 -100 12.0 90.0
178 167 44 V+1 »2 -650 19.0 83.0| 174 171 N -2 -100 12.0 90.0
179 166 4v V +1 *4 -650 19.0 83.0| 179 166 N -2 -100 12.0 90.0
204 216 4v V+1l 8 -650 19.0 83.0| 180 111 N -2 -100 12.0 90.0
264 202 44 V+1 +4 -650 19.0 83.0| 212 208 N -2 -100 12.0 90.0
80 12 3N O +2 ¢2 -660 4.0 98.0| 213 207 N -2 -100 12.0 90.0
1 67 44 O+2 ¢+ K -680 2.0 100.0| 270 275 N -2 -100 12.0 90.0
5 63 5¢DS-4 v6 -1100 0.0 102.0| 280 210 N -2 -100 12.0 90.0
- 265 46.6 - 265 46.6
25 « K874 26
Nord v Kn542 Ost
ov ¢+ ED92 Alla
&E
« D965 «ED109 4K7652
vE7
+3 +Kn876 ¢ K3
#Kn97532 #K1084
432
v 10963
¢ KKn1075
D6
Par Kontr Ut Res Poang Par Res Poang
7 63 34DV-3 48 800 101.9 0.1 67 3 600 99.3 2.7
117 113 3vyDN= aA 530 99.7 2.3 79 70 600 99.3 2.7
2 68 34 V-3 v4 300 97.5 45| 270 204 600 99.3 2.7
16 10 3v N= s A 140 91.9 10.1( 173 101 300 94.3 7.7
75 74 2v N +1 +8 140 91.9 10.1 1 69 170 84.4 17.6
118 112 2v N+1 +6 140 91.9 10.1 8 18 170 84.4 17.6
217 211 3v N= &4 140 91.9 10.1 65 5 170 84.4 17.6
1 69 3¢ N+1 +6 130 85.3 16.7( 110 164 170 84.4 17.6
178 175 3¢ N+1 +4 130 85.3 16.7( 114 116 170 84.4 17.6
65 5 2vS= +3 110 74.2 278 169 105 170 84.4 17.6
110 164 3¢ N= *4 110 74.2 27.8| 274 279 170 84.4 17.6
114 116 2v N= +4 110 74.2 27.8 9 17 150 60.9 411
167 107 2v S= +3 110 74.2 27.8 80 13 150 60.9 411
173 101 2v S= +3 110 74.2 27.8| 102 172 150 60.9 41.1
207 267 3¢ N= +6 110 74.2 27.8| 106 168 150 60.9 411
274 279 2¢ N+1 +6 110 74.2 278 178 175 150 60.9 411
277 276 2v S= +3 110 74.2 27.8| 203 271 150 60.9 411
280 214 34 V-1 A 100 64.3 37.7| 208 266 150 60.9 411
109 165 2¢ N= &4 90 62.1 39.9| 209 265 150 60.9 411
208 266 1v N= »8 80 59.9 42.1| 268 206 150 60.9 41.1
8 18 3¢ N-1 +4 -50 47.7 543 277 276 150 60.9 411
9 17 3v S-1 ¢7 -50 47.7 543 | 278 275 150 60.9 411
76 73 INN-1 &4 -50 47.7 543 | 280 214 150 60.9 411
102 172 2¢ N-1 +6 -50 47.7 54.3 2 68 130 30.0 72.0
177 176 3v N-1 &4 -50 47.7 54.3| 103 171 130 30.0 72.0
203 271 3¢ N-1 *4 -50 47.7 543( 104 170 130 30.0 72.0
209 265 3¢ N-1 +4 -50 47.7 543 108 166 130 30.0 72.0
213 215 3¢ N-1 ¢+4 -50 47.7 54.3| 109 165 130 30.0 72.0
268 206 3v N-1 +8 -50 47.7 543 117 113 130 30.0 72.0
278 275 3¢ N-1 &3 -50 47.7 543 167 107 130 30.0 72.0
80 13 44 S-2 vA -100 30.0 720( 177 176 130 30.0 72.0
103 171 4v N-2 aA -100 30.0 720( 179 174 130 30.0 72.0
106 168 44 N-2 +4 -100 30.0 720 202 272 130 30.0 72.0
180 115 44 S-2 vA -100 30.0 720 207 267 130 30.0 72.0
205 269 4¢ N-2 &K -100 30.0 72.0( 210 264 130 30.0 72.0
210 264 2NS-2 &5 -100 30.0 720( 216 212 130 30.0 72.0
216 212 24 V+1 A -140 22.2 79.8( 217 211 120 12.6 89.4
169 105 44V +1 ¢ A -150 17.8 842 111 163 -100 5.2 96.8
202 272 INO +2 +J -150 17.8 84.2| 118 112 -100 5.2 96.8
270 204 3%V +2 v2 -150 17.8 84.2| 180 115 -100 5.2 96.8
6 64 4%V +2 v] -170 10.1 91.9| 205 269 -100 5.2 96.8
79 70 24 V+2 &A -170 10.1 91.9| 213 215 -100 5.2 96.8
104 170 3#V +3 v2 -170 10.1 91.9 4 66 630>a 92.6 9.4
179 174 34 V+1 A -170 10.1 91.9 15 11 600>a 61.4 40.6
108 166 3vDS-3 +3 -500 4.5 97.5 71 78 600>a 61.4 40.6
67 3 54DV = v2 -750 2.3 99.7 12 14 170>a 30.2 71.8
111 163 4vDS-6 +3 -1400 0.1 01.9 77 72 130>a 9.4 92.6
- 273 57.1 - 273 57.1
4 66 A+/A+ 61.2 61.9 6 64 A+/A+ 61.2 61.2
12 14 A+/A+ 61.2 61.2 7 63 A+/A+ 61.2 61.2
15 11 A+/A+ 61.2 61.2 16 10 A+/A+ 73.8 61.2
71 78 A+/A+ 61.2 61.2 75 74 A+/A+ 61.2 61.2
77 72 A+/A+ 61.2 61.2 76 73 A+/A+ 61.2 61.2
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27 « EK10987 28 » 862
Syd v- Vast vD10
Ingen ¢ E873 NS ¢ EK106
#Kn98 #EKn62
45 & DKn6432 « EKKn74 41053
vK107  vKn963 vEKn742 v65
496542 +10 +9 + D842
#EK102 #75 «D5 #10943
a- «D9
v ED8542 v K983
¢ KDKn ¢ Kn753
#D643 *K87
Par Kontr ut Res Poang Par Kontr ut Res Poang
7 65 3NN +1 43 430 99.0 3.0 5 67 64 V-4 ¢*A 200 102.0 0.0
109 117 3NS+1 *A 430 99.0 30| 217 213 2NN+1 v5 150 100.0 2.0
112 114 3NS+1 *4 430 99.0 3.0 2 70 3¢ S= *Q 110 97.0 5.0
217 213 4NN-= a4 430 99.0 30| 175 174 3¢ S= LY 110 97.0 5.0
1 71 3NN-= 8 400 84.0 18.0 1 71 44DV -1 ¢ A 100 90.0 12.0
16 12 3NS= *K 400 84.0 18.0 13 15 44 V-2 *7 100 90.0 12.0
72 79 3NN-= &7 400 84.0 18.0 16 12 34DV-1 a2 100 90.0 12.0
104 166 3NS= ¢2 400 84.0 18.0 206 270 3 V-2 a2 100 90.0 12.0
115 111 3NS= *A 400 84.0 18.0 271 205 34 V-2 *K 100 90.0 12.0
167 103 3NS= *A 400 84.0 18.0 107 163 34 V-1 ¢+ K 50 81.0 21.0
175 174 3NS= *A 400 84.0 18.0| 118 108 1la V-1 ¢A 50 81.0 21.0
203 273 3NS= +2 400 84.0 18.0 210 266 24 V-1 *A 50 81.0 21.0
208 268 3NS= *4 400 84.0 18.0 280 215 44 V-1 ¢*A 50 81.0 21.0
214 216 3NS= *4 400 84.0 18.0 80 14 l1la V= ¢+ K -80 76.0 26.0
279 276 3NS= +5 400 84.0 18.0 66 6 2NN-1 oT -100 69.0 33.0
2 70 3NS-1 *2 -50 59.0 43.0 77 74 2v S-1 ¢9 -100 69.0 33.0
3 69 3NS-1 *K -50 59.0 43.0| 102 168 3¢ S-1 ¢9 -100 69.0 33.0
13 15 24 N-1 *T -50 59.0 43.0| 109 117 2v S-1 oA -100 69.0 33.0
68 4 3NS-1 *A -50 59.0 43.0| 176 173 3¢ S-1 oK -100 69.0 33.0
101 169 3NS-1 ¢2 -50 59.0 43.0| 209 267 3¢ N-1 45 -100 69.0 33.0
102 168 3NN-1 5 -50 59.0 43.0 7 65 3# V= v6 -110 56.0 46.0
107 163 3NS-1 +6 -50 59.0 43.0 10 18 24 V= *A -110 56.0 46.0
118 108 3NS-1 *K -50 59.0 43.0 17 11 1a V+1 ¢ A -110 56.0 46.0
177 172 24 N-1 ¢5 -50 59.0 43.0| 104 166 1a V+1 ¢ A -110 56.0 46.0
202 274 3NS-1 &K -50 59.0 43.0| 165 105 24 V= vQ -110 56.0 46.0
204 272 3NS-1 *A -50 59.0 43.0| 202 274 24 V= ¢ K -110 56.0 46.0
209 267 3¢ N-1 *7 -50 59.0 43.0| 269 207 1la V+1 *A -110 56.0 46.0
210 266 3NN-1 v3 -50 59.0 43.0 8 64 24 V+1 ¢+ K -140 45.0 57.0
271 205 3NS-1 *K -50 59.0 43.0 9 63 24 V+1 vQ -140 45.0 57.0
5 67 3NS-2 *2 -100 33.0 69.0 112 114 1a V+2 ¢+ K -140 45.0 57.0
8 64 34 N-2 oT -100 33.0 69.0 264 212 1la V+2 *A -140 45.0 57.0
9 63 3NS-2 45 -100 33.0 69.0 101 169 1a V+3 ¢ A -170 36.0 66.0
10 18 34 S-2 +4 -100 33.0 69.0 177 172 34 V+1 *A -170 36.0 66.0
66 6 34 N-2 oT -100 33.0 69.0 208 268 1a V+3 *A -170 36.0 66.0
78 73 3¢ N-2 &7 -100 33.0 69.0 211 265 14 V+3 ¢ A -170 36.0 66.0
116 110 44 N-2 *T -100 33.0 69.0 214 216 14 V+3 ¢ A -170 36.0 66.0
180 113 3NS-2 *2 -100 33.0 69.0 68 4 3% N-2 oK -200 24.0 78.0
264 212 3NN-2 a4 -100 33.0 69.0 76 75 3# N-2 v6 -200 24.0 78.0
269 207 3NS-2 *A -100 33.0 69.0 78 73 3NS-2 oA -200 24.0 78.0
278 277 34 N-2 oT -100 33.0 69.0 116 110 4¢ S-2 oA -200 24.0 78.0
280 215 4v S-2 &K -100 33.0 69.0 167 103 2v S-2 & A -200 24.0 78.0
76 75 44 N-3 *7 -150 13.0 89.0| 179 170 2v S-2 oK -200 24.0 78.0
77 74 44 N-3 oT -150 13.0 89.0| 203 273 34 N-2 oT -200 24.0 78.0
106 164 5v S-3 *A -150 13.0 89.0 3 69 3# N-3 v5 -300 10.0 92.0
165 105 3NS-3 +6 -150 13.0 89.0| 106 164 3# N-3 2 -300 10.0 92.0
171 178 44 N-3 oT -150 13.0 89.0| 115 111 34 N-3 43 -300 10.0 92.0
176 173 34 N-3 oT -150 13.0 89.0| 171 178 2v S-3 s A -300 10.0 92.0
206 270 44 N-3 oT -150 13.0 89.0 180 113 2NN-3 3 -300 10.0 92.0
211 265 44 N-3 oT -150 13.0 89.0| 204 272 2v S-3 +9 -300 10.0 92.0
179 170 44 N-4 oT -200 4.0 98.0| 279 276 2v S-3 s A -300 10.0 92.0
80 14 4v S-5 *A -250 20 1000 278 277 2vS-4 oA -400 2.0 100.0
17 11 44DN-3 oT -500 0.0 102.0 72 79 4¢DS-2 oA -500 0.0 102.0
275 - 42.2 275 - 42.2
29 4« KKn76 30 & KD652
Nord v Kn105 Ost v EK3
Alla + Kn1085 Ingen + K73
*87 *73
4E94 4D32 a7 «98
vD92 vK874 vDKn1074  v82
47632 ¢EKD ¢ EDKN1065 ¢ 942
#KKn4 #E32 %9 #DKn10652
« 1085 « EKn1043
vEG3 v 965
¢ 94 +8
#D10965 #EK84
Par Kontr ut Res Poang Par Kontr ut Res Poang
109 163 6NV-2 46 200 100.0 2.0 6 68 64 S = vQ 980 95.0 7.0
212 214 3NV-2 46 200 100.0 2.0 18 12 64 S= *9 980 95.0 7.0
279 272 3NV -2 46 200 100.0 2.0 67 7 64 S= vQ 980 95.0 7.0
4 70 2NV-1 +8 100 91.0 11.0| 107 165 64 S= *A 980 95.0 7.0
18 12 3NO-1 T 100 91.0 11.0| 166 106 64 S= ¢A 980 95.0 7.0
103 169 3NV-1 46 100 91.0 11.0| 206 266 64 S= ¢ A 980 95.0 7.0
117 111 3NV-1 *J 100 91.0 11.0| 209 217 64 S= *9 980 95.0 7.0
166 106 3NO-1 5 100 91.0 11.0| 215 211 64 S= *9 980 95.0 7.0
180 114 3NV-1 46 100 91.0 11.0 11 63 5¢DV-3 vA 500 83.0 19.0
113 115 2v O = 5 -110 84.0 18.0 69 5 5¢DO-3 &K 500 83.0 19.0
3 71 3NO= *6 -600 59.0 43.0 78 75 5¢DV-3 vA 500 83.0 19.0

Skanes BF, Allemanstraffens final 2010 2010-03-07, sida 12 av 20




6 68 3NO= T -600 59.0 43.0| 103 169 5¢DV-3 vA 500 83.0 19.0
9 65 3NV = 46 -600 59.0 43.0 4 70 44 S+2 *9 480 48.0 54.0
14 16 3NV = a7 -600 59.0 43.0 8 66 54 S +1 *9 480 48.0 54.0
17 13 3NV = a2 -600 59.0 43.0 9 65 54 S+1 ¢A 480 48.0 54.0
67 7 3NO= *6 -600 59.0 43.0 10 64 44 S +2 vQ 480 48.0 54.0
69 5 3NV= *J -600 59.0 43.0 14 16 54 S+1 ¢ A 480 48.0 54.0
78 75 3NO= *6 -600 59.0 43.0 17 13 54 S+1 ¢*A 480 48.0 54.0
101 171 3NO= &T -600 59.0 43.0 73 1 44 S+2 *9 480 48.0 54.0
102 170 3NO= *6 -600 59.0 43.0 77 76 44 S +2 *9 480 48.0 54.0
107 165 3NO= &5 -600 59.0 43.0 79 74 44 S +2 ¢A 480 48.0 54.0
110 118 3NO= *9 -600 59.0 43.0 80 15 54 S+1 vQ 480 48.0 54.0
116 112 3NO= 5 -600 59.0 43.0 101 171 44 S+2 *9 480 48.0 54.0
168 104 3NV = ¢2 -600 59.0 43.0| 102 170 44 S+2 vQ 480 48.0 54.0
172 179 3NO= &T -600 59.0 43.0| 105 167 44 S+2 ¢ A 480 48.0 54.0
176 175 3NV = vT -600 59.0 43.0 110 118 44 S+2 *9 480 48.0 54.0
178 173 3NV = *J -600 59.0 43.0| 113 115 44 S+2 vQ 480 48.0 54.0
206 266 3NO-= v3 -600 59.0 43.0| 116 112 44 S+2 *9 480 48.0 54.0
208 264 3NV = 46 -600 59.0 43.0| 117 111 44 S+2 ¢ A 480 48.0 54.0
216 210 3NO= &5 -600 59.0 43.0| 172 179 44 S+2 *9 480 48.0 54.0
267 205 3NV = 46 -600 59.0 43.0| 176 175 44 S+2 *9 480 48.0 54.0
276 275 3NO= *6 -600 59.0 43.0| 178 173 44 S+2 vQ 480 48.0 54.0
277 274 3NV = vJ -600 59.0 43.0| 180 114 54 N+1 ¢9 480 48.0 54.0
280 213 3NO= *9 -600 59.0 43.0| 202 270 44 S+2 ¢ A 480 48.0 54.0
8 66 3N O +1 &5 -630 21.0 81.0| 207 265 44 S+2 ¢ A 480 48.0 54.0
10 64 3NV +1 vJ -630 21.0 81.0| 208 264 54 S+1 *9 480 48.0 54.0
11 63 3NV +1 46 -630 21.0 81.0| 212 214 54 S+1 *9 480 48.0 54.0
77 76 3NO+1 *T -630 21.0 81.0| 216 210 44 S+2 *9 480 48.0 54.0
79 74 3NV +1 46 -630 21.0 81.0| 267 205 44 S+2 vQ 480 48.0 54.0
80 15 3NO+1 *6 -630 21.0 81.0| 273 278 44 S+2 ¢ A 480 48.0 54.0
108 164 3NO+1 *6 -630 21.0 81.0| 276 275 44 S+2 ¢ A 480 48.0 54.0
177 174 3NO+1 &T -630 21.0 81.0| 277 274 44 S+2 vQ 480 48.0 54.0
202 270 3NO+1 &T -630 21.0 81.0| 280 213 44 S+2 vQ 480 48.0 54.0
204 268 3N O +1 +9 -630 21.0 81.0 2 72 44 S+1 &9 450 9.0 93.0
207 265 3NV +1 +J -630 21.0 81.0 3 71 44 S+1 *9 450 9.0 93.0
209 217 3NV +1 ¢*J -630 21.0 81.0| 108 164 44 S+1 vQ 450 9.0 93.0
215 211 3NO+1 *6 -630 21.0 81.0| 109 163 54 S= *9 450 9.0 93.0
273 278 3NV +1 +5 -630 21.0 81.0| 168 104 44 S+1 vQ 450 9.0 93.0
2 72 3N O +2 *5 -660 3.0 99.0| 177 174 44 S+1 vQ 450 9.0 93.0
73 1 3NO+2 *6 -660 3.0 99.0| 269 203 54 S= *9 450 9.0 93.0
105 167 3NV +2 vJ -660 3.0 99.0| 279 272 44 S+1 *9 450 9.0 93.0
269 203 3NV +2 ¢5 -660 3.0 99.0 204 268 4v S-4 *9 -200 0.0 102.0
- 271 62.2 - 271 62.2
31 «E9 32 « KKn4
Syd v92 Vast v Kn432
NS ¢+ KDKn10754 ov + 1076
#83 #K75
& KKn 46543 48 +106
vKnl043 vE8765 v 97 v EK10865
¢ 862 ¢E3 ¢ KKn5432 ¢+ E98
#D942 *K7 #10432 +98
«D10872 « ED97532
vKD vD
+9 +D
#EKn1065 #EDKnN6
Par Kontr ut Res Poéang Par Kontr ut Res Poang
216 264 44 S+1 v9 650 102.0 0.0 70 6 44D S+1 v9 690 102.0 0.0
70 6 3NS+1 vJ 630 100.0 2.0 3 73 44 S+2 v9 480 96.0 6.0
3 73 3NS= v3 600 94.0 8.0 4 72 44 S+2 v9 480 96.0 6.0
15 17 3NS= v3 600 94.0 8.0 15 17 44 S+2 v9 480 96.0 6.0
109 171 3NS= v4 600 94.0 8.0 165 115 44 S+2 v9 480 96.0 6.0
113 167 3NS= v3 600 94.0 80| 211 269 44 S+2 v9 480 96.0 6.0
206 274 3NS-= v4 600 94.0 8.0 1 75 44 S+1 v9 450 52.0 50.0
211 269 24 S+1 v3 140 87.0 15.0 7 69 44 S+1 v9 450 52.0 50.0
271 209 24 S+1 vlJ 140 87.0 15.0 9 67 44 S+1 v9 450 52.0 50.0
5 71 4¢ N= vA 130 69.0 33.0 10 66 44 N +1 vA 450 52.0 50.0
7 69 4¢ N= vA 130 69.0 33.0 12 64 44 S+1 v9 450 52.0 50.0
11 65 4¢ N= vA 130 69.0 33.0 18 14 44 S+1 v9 450 52.0 50.0
18 14 3¢ N+1 vA 130 69.0 33.0 63 13 44 S+1 vJ 450 52.0 50.0
68 8 4¢ N= vA 130 69.0 33.0 68 8 44 S+1 v9 450 52.0 50.0
101 179 3¢ N+1 46 130 69.0 33.0 74 2 44 S+1 v9 450 52.0 50.0
164 116 3¢ N+1 *K 130 69.0 33.0 78 77 44 S+1 v9 450 52.0 50.0
165 115 4¢ N= vA 130 69.0 33.0 80 16 54 S= v9 450 52.0 50.0
170 110 3¢ N+1 vA 130 69.0 33.0| 101 179 44 S+1 v9 450 52.0 50.0
172 108 4¢ N= vA 130 69.0 33.0| 103 177 44 S+1 v9 450 52.0 50.0
180 118 4¢ N= vA 130 69.0 33.01 105 175 44 S+1 v9 450 52.0 50.0
208 272 3¢ N+1 v5 130 69.0 33.0| 106 174 44 S+1 v9 450 52.0 50.0
212 268 4¢ N= 46 130 69.0 33.0| 107 173 44 S+1 v9 450 52.0 50.0
213 267 3¢ N+1 vA 130 69.0 33.0| 109 171 44 S+1 v9 450 52.0 50.0
273 207 3¢ N+1 a4 130 69.0 33.0| 111 169 44 S+1 v9 450 52.0 50.0
280 217 4¢ N= vA 130 69.0 33.0| 112 168 44 S+1 v9 450 52.0 50.0
277 203 3¢ N= +K 110 52.0 50.0 113 167 44 S+1 v9 450 52.0 50.0
210 270 3vO-1 *9 50 50.0 52,0 117 163 44 S+1 v9 450 52.0 50.0
1 75 5¢ N-1 vA -100 33.0 69.0 164 116 44 S+1 v9 450 52.0 50.0
9 67 3NN-1 v6 -100 33.0 69.0| 170 110 44 S+1 vK 450 52.0 50.0
10 66 3NS-1 vJ -100 33.0 69.0 172 108 44 S+1 v9 450 52.0 50.0
12 64 3NN-1 vJ -100 33.0 69.0 176 104 44 S+1 v7 450 52.0 50.0
63 13 3NS-1 vJ -100 33.0 69.0| 180 118 44 S+1 v7 450 52.0 50.0
74 2 3NS-1 vJ -100 33.0 69.0 202 278 44 S+1 v9 450 52.0 50.0
78 77 3NS-1 vJ -100 33.0 69.0 204 276 54 S= v9 450 52.0 50.0
80 16 4¢ N-1 a4 -100 33.0 69.0| 205 275 44 S+1 v7 450 52.0 50.0
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102 178 S-1 vJ] -100 33.0 69.0( 206 274 44 S+1 v9 450 52.0 50.0
106 174 N -1 vA -100 33.0 69.0 212 268 44 S+1 v9 450 52.0 50.0
107 173 N -1 46 -100 33.0 69.0 213 267 44 N+1 vA 450 52.0 50.0
111 169 3NS-1 vJ] -100 33.0 69.0( 216 264 44 S+1 v9 450 52.0 50.0
114 166 S-1 &4 -100 33.0 69.0( 265 215 44 S+1 v9 450 52.0 50.0
202 278 N -1 v5 -100 33.0 69.0( 266 214 44 S+1 v9 450 52.0 50.0
204 276 N-1 vA -100 33.0 69.0( 271 209 44 S+1 v9 450 52.0 50.0
266 214 S-1 v3 -100 33.0 69.0 273 207 44 S+1 v9 450 52.0 50.0
103 177 o= +9 -140 15.0 87.0| 277 203 44 S+1 v5 450 52.0 50.0
265 215 0= +9 -140 15.0 87.0| 280 217 44 S+1 v9 450 52.0 50.0
79 76 S-2 v3 -200 9.0 93.0 79 76 24 S +4 v9 230 12.0 90.0
112 168 S-2 +8 -200 9.0 93.0 5 71 24 S+3 v9 200 5.0 97.0
176 104 S-2 vJ] -200 9.0 93.0 11 65 34 S +2 v9 200 5.0 97.0
205 275 N -2 vA -200 9.0 93.0| 102 178 24 S+3 v9 200 5.0 97.0
117 163 S-3 vJ -300 4.0 98.0| 114 166 24 S+3 v9 200 5.0 97.0
4 72 S-4 vJ] -400 2.0 100.0| 208 272 34 S+2 v9 200 5.0 97.0
105 175 S-5 v] -500 0.0 102.0| 210 270 24 S+3 v9 200 5.0 97.0
- 279 49.9 - 279 49.9
33 « EK643 34 #8632
Nord v E83 Ost v8
Ingen + EK86 NS + E96
&8 #109864
+D108 452 D75 & KKn109
vKKn42 v D97 vK43 vD75
+ DKn543 + D852 ¢ K104
#KKn532 #1096 #ED2 #Kn73
4« Kn97 «E4
v 1065 v EKn10962
4972 ¢+ Kn73
&ED74 &K5
Par Ut Res Poang Par Kontr Ut Res Poang
64 14 N= +Q 420 95.0 7.0| 272 210 44 O-3 4 A 150 102.0 0.0
105 171 N = &T 420 95.0 7.0 78 79 2NN= v] 120 100.0 2.0
170 106 N = +Q 420 95.0 7.0| 178 177 2v S= *Q 110 97.0 5.0
178 177 N= v7 420 95.0 7.0| 207 275 2v S= A 110 97.0 5.0
180 116 N = +Q 420 95.0 7.0 118 114 3¢ V-2 v8 100 94.0 8.0
211 271 N = ¢+ Q 420 95.0 7.0 1 77 24 O-1 vA 50 90.0 12.0
217 265 N= +Q 420 95.0 7.0 6 72 34 O-1 &K 50 90.0 12.0
267 215 N = &T 420 95.0 70| 170 106 24 O-1 vA 50 90.0 12.0
206 276 S= »2 400 86.0 16.0 2 76 2v S-1 a5 -100 73.0 29.0
16 18 N +2 &6 170 84.0 18.0 10 68 2v S-1 »2 -100 73.0 29.0
13 65 N = &T 140 80.0 22.0 64 14 1v S-1 a5 -100 73.0 29.0
118 114 N +1 vQ 140 80.0 220( 101 175 2vS-1 ¢+5 -100 73.0 29.0
213 269 N +2 v7 140 80.0 220( 104 172 2v S-1 v4 -100 73.0 29.0
11 67 N = &T 110 75.0 27.0( 105 171 2v S-1 *2 -100 73.0 29.0
104 172 N = a5 110 75.0 27.0( 107 169 2v S-1 v3 -100 73.0 29.0
1 77 N -1 &T -50 53.0 49.0| 111 165 1v S-1 2 -100 73.0 29.0
2 76 N -1 &T -50 53.0 49.0| 163 113 2v S-1 +5 -100 73.0 29.0
6 72 N-1 ¢+5 -50 53.0 49.0| 174 102 2v S-1 +5 -100 73.0 29.0
12 66 N -1 a5 -50 53.0 49.0| 205 277 24 S-1 v3 -100 73.0 29.0
63 15 N-1 &T -50 53.0 49.0| 212 270 1v S-1 +5 -100 73.0 29.0
71 7 N-1 &T -50 53.0 49.0| 217 265 2v S-1 v3 -100 73.0 29.0
79 78 N -1 +Q -50 53.0 49.0| 274 208 1v S-1 a5 -100 73.0 29.0
103 173 N-1 &6 -50 53.0 49.0 5 73 24 O= vA -110 47.0 55.0
110 166 N-1 &T -50 53.0 49.0 69 9 24 O= vK -110 47.0 55.0
112 164 N -1 a2 -50 53.0 49.0 71 7 24 O= vA -110 47.0 55.0
115 117 N -1 *9 -50 53.0 49.0 75 3 3¢ V= v8 -110 47.0 55.0
163 113 N-1 &T -50 53.0 49.0 80 17 24 O = *7 -110 47.0 55.0
168 108 N -1 *6 -50 53.0 49.0| 103 173 24 O= vA -110 47.0 55.0
179 176 N -1 &T -50 53.0 49.0| 109 167 24 O= vA -110 47.0 55.0
203 279 N-1 a5 -50 53.0 49.0| 110 166 24 O= vA -110 47.0 55.0
205 277 N -1 &T -50 53.0 49.0| 112 164 24 O= vA -110 47.0 55.0
212 270 N -1 45 -50 53.0 49.0| 206 276 24 O= +3 -110 47.0 55.0
214 268 N-1 &T -50 53.0 49.0| 209 273 24 O= vA -110 47.0 55.0
274 208 N -1 v7 -50 53.0 49.0| 280 264 3¢ V= v8 -110 47.0 55.0
278 204 N -1 a2 -50 53.0 49.0 203 279 2NO= vT -120 33.0 69.0
4 74 S-2 *T -100 19.0 83.0| 214 268 2NO= vJ] -120 33.0 69.0
5 73 N -2 v7 -100 19.0 83.0 8 70 24 O+1 vA -140 25.0 77.0
8 70 N -2 &T -100 19.0 83.0 12 66 24 O +1 aA -140 25.0 77.0
10 68 N -2 &T -100 19.0 83.0 63 15 24 V+1 v9 -140 25.0 77.0
69 9 N -2 ¢+ Q -100 19.0 83.0| 179 176 24 O+1 aA -140 25.0 77.0
75 3 N -2 +Q -100 19.0 83.0| 266 216 34 O= vA -140 25.0 77.0
101 175 N -2 &T -100 19.0 83.0| 278 204 24 O+1 *7 -140 25.0 77.0
109 167 N -2 &T -100 19.0 83.0 13 65 2N O +1 vA -150 17.0 85.0
111 165 N -2 &9 -100 19.0 83.0| 213 269 INV+2 v8 -150 17.0 85.0
174 102 N -2 &T -100 19.0 83.0| 168 108 24 O+2 +3 -170 14.0 88.0
207 275 N -2 v7 -100 19.0 83.0 4 74 2v S-2 a7 -200 9.0 93.0
209 273 N -2 vQ -100 19.0 83.0| 115 117 2v S-2 42 -200 9.0 93.0
266 216 N -2 &T -100 19.0 83.0| 180 116 INN-2 aT -200 9.0 93.0
272 210 N -2 +4 -100 19.0 83.0| 211 271 2vDS-1 v3 -200 9.0 93.0
80 17 N -3 +6 -150 2.0 100.0 16 18 3v S-3 a7 -300 4.0 98.0
107 169 N -3 a2 -150 2.0 100.0| 267 215 3NV +1 vT -430 2.0 100.0
280 264 N -3 a5 -150 2.0 100.0 11 67 3vDS-3 a5 -800 0.0 102.0
202 - 50.0 202 - 50.0
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35 « KD9865 36 476
Syd v 962 Vast v 10632
ov ¢E8 Alla ¢ E6432
«D3 *73
aKn74 &E2 4 EDKn102 &K984
vE1084 vKn7 vKn984 v75
¢+ D104 ¢ KKn652 *7 ¢ DKn85
»854 #EKN76 *K42 #ED6
103 53
v KD53 v EKD
¢ 973 ¢ K109
#K1092 #Kn10985
Par Kontr ut Res Poang Par Kontr ut Res Poang
116 118 3v V-4 oK 400 102.0 0.0 70 10 2¢ V-2 3 200 102.0 0.0
17 63 3#V-3 v8 300 98.0 4.0( 205 273 44 V-1 *6 100 100.0 2.0
211 267 4¢ O-3 aT 300 98.0 4.0 6 74 1la V+3 vT -170 91.0 11.0
276 202 3v V-3 ¢A 300 98.0 4.0 9 71 24 V+2 &7 -170 91.0 11.0
6 74 3NO-2 T 200 88.0 14.0 11 69 34 V+1 ¢ A -170 91.0 11.0
72 8 2NV -2 &K 200 88.0 14.0 72 8 24 V+2 *7 -170 91.0 11.0
76 4 20 O-2 T 200 88.0 140 101 177 34 O+1 vA -170 91.0 11.0
113 165 3NO-2 T 200 88.0 14.0| 180 117 34 V+1 ¢ A -170 91.0 11.0
164 114 44V -2 &K 200 88.0 140 211 267 34 V+1 *7 -170 91.0 11.0
204 274 4¢ O-2 T 200 88.0 140 265 213 34 O+1 vA -170 91.0 11.0
265 213 4¢ O-2 T 200 88.0 14.0 1 79 4e V= &7 -620 42.0 60.0
203 275 24 N+2 *2 170 80.0 22.0 2 78 4a V= &7 -620 42.0 60.0
101 177 34 N= *A 140 71.0 31.0 3 77 4e V= &7 -620 42.0 60.0
104 174 34 N= v7 140 71.0 31.0 5 75 44 V= v3 -620 42.0 60.0
106 172 24 N+1 v7 140 71.0 31.0 7 73 44 V= *7 -620 42.0 60.0
111 167 34 N= s A 140 71.0 31.0 12 68 44 O= vK -620 42.0 60.0
175 103 34 N= +6 140 71.0 31.0 13 67 44 V= *) -620 42.0 60.0
209 269 24 N+1 +6 140 71.0 31.0 14 66 4e V= *A -620 42.0 60.0
270 208 24 N+1 vJ 140 71.0 31.0 17 63 44 V= *8 -620 42.0 60.0
279 278 34 N= vJ 140 71.0 31.0 64 16 4e V= a7 -620 42.0 60.0
1 79 24 N= vJ 110 57.0 45.0 65 15 44 V= *A -620 42.0 60.0
7 73 24 N= vJ 110 57.0 45.0 76 4 4a V= &7 -620 42.0 60.0
105 173 24 N= vJ 110 57.0 45.0 80 18 44 V= &7 -620 42.0 60.0
108 170 24 N= vJ 110 57.0 45.0| 102 176 44 V= *7 -620 42.0 60.0
212 266 24 N= vJ 110 57.0 45.0| 104 174 4e4 V= v2 -620 42.0 60.0
264 214 24 N= vJ 110 57.0 45.0| 105 173 4a V= &7 -620 42.0 60.0
2 78 3¢ 0-1 T 100 46.0 56.0| 106 172 44 V= *7 -620 42.0 60.0
11 69 2¢ 0-1 T 100 46.0 56.0| 108 170 4« V= &7 -620 42.0 60.0
102 176 3¢ O-1 T 100 46.0 56.0| 110 168 44 V= 3 -620 42.0 60.0
112 166 3¢ O-1 T 100 46.0 56.0 | 111 167 4e V= *A -620 42.0 60.0
272 206 2NO-1 oT 100 46.0 56.0| 112 166 4« V= &7 -620 42.0 60.0
3 77 44 N-1 +6 -50 30.0 72.0| 113 165 44 V= v3 -620 42.0 60.0
9 71 34 N-1 vJ -50 30.0 72.0| 116 118 44 V= v3 -620 42.0 60.0
64 16 34 N-1 *2 -50 30.0 72.0| 163 115 44 V= a7 -620 42.0 60.0
70 10 24 N-1 vJ -50 30.0 72.0| 164 114 44 V= 46 -620 42.0 60.0
110 168 3v S-1 ¢ Q -50 30.0 72.0| 169 109 4e V= v3 -620 42.0 60.0
163 115 34 N-1 vJ -50 30.0 72.0| 171 107 4e V= ¢*A -620 42.0 60.0
169 109 24 N-1 ¢5 -50 30.0 72.0| 175 103 44 V= &7 -620 42.0 60.0
179 178 34 N-1 vJ -50 30.0 720 179 178 44 V= vT -620 42.0 60.0
205 273 34 N-1 vJ -50 30.0 72.0| 203 275 44 V= &7 -620 42.0 60.0
210 268 34 N-1 vJ -50 30.0 72.0| 204 274 44 V= ¢ A -620 42.0 60.0
280 216 24 N-1 vJ -50 30.0 72.0| 209 269 44 V= *7 -620 42.0 60.0
171 107 2¢ O= T -90 16.0 86.0| 210 268 44 V= &7 -620 42.0 60.0
180 117 2¢ O= T -90 16.0 86.0| 212 266 44 V= &7 -620 42.0 60.0
215 217 INO= oT -90 16.0 86.0| 215 217 44 V= *7 -620 42.0 60.0
5 75 34 N-2 vJ -100 11.0 91.0| 264 214 44 V= &7 -620 42.0 60.0
65 15 34 N-2 vJ -100 11.0 91.0| 270 208 44 V= ¢ A -620 42.0 60.0
12 68 3¢ O= aT -110 6.0 96.0| 272 206 4e V= *2 -620 42.0 60.0
14 66 2¢ O+1 *9 -110 6.0 96.0| 276 202 44 V= &7 -620 42.0 60.0
80 18 2¢ O+1 T -110 6.0 96.0| 279 278 44 V= a7 -620 42.0 60.0
13 67 2NS-3 *4 -150 20 100.0| 280 216 44 V= *7 -620 42.0 60.0
207 271 44DN-3 vJ -500 0.0 102.0| 207 271 3¢DN-3 48 -800 0.0 102.0
- 277 61.2 - 277 61.2
37 532 38 « 106
Nord vK8 Ost v EKn10765
NS ¢ K984 ov ¢ K107
#E£942 *74
«EKD «Kn9864 4Kn532 &E7
vE976 vD4 v9 v KD83
¢ E765 ¢ DKn32 ¢E632 +¢Kng4
*K6 #Kn5 #D652 #K1098
« 107 « KD984
v Kn10532 v42
+10 ¢ D95
«D10873 #EKn3
Par Kontr ut Res Poang Par Kontr ut Res Poang
211 275 3NO-3 *7 150 102.0 00| 180 165 INV-2 oT 200 101.0 1.0
18 64 44 O0-2 oT 100 97.0 50| 211 275 1vDO-1 oK 200 101.0 1.0
205 202 44 O-2 oT 100 97.0 50| 108 178 INN+2 a7 150 98.0 4.0
207 279 4e V-2 *4 100 97.0 5.0 6 76 24 S= v9 110 89.0 13.0
269 217 44DV-1 o7 100 97.0 5.0 7 75 2v N= oA 110 89.0 13.0
3 79 440-1 oT 50 84.0 18.0 15 67 24 S= v9 110 89.0 13.0
12 70 54 O-1 oT 50 84.0 18.0 73 9 2v N= oA 110 89.0 13.0
106 101 44 V-1 *4 50 84.0 18.0 77 5 1la S+1 v7 110 89.0 13.0
110 176 44 O-1 oT 50 84.0 18.0| 104 103 14 S+1 v9 110 89.0 13.0
112 174 44 V-1 3 50 84.0 18.0| 115 171 14 S+1 vT 110 89.0 13.0
114 172 44 O-1 oT 50 84.0 18.0| 214 272 24 S= v9 110 89.0 13.0
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168 118 3NV-1 *4 50 84.0 18.0 4 78 INO-1 &K 100 74.0 28.0
215 271 44 V-1 a2 50 84.0 18.0 10 72 34 0-1 LY 100 74.0 28.0
216 270 44 O-1 *T 50 84.0 18.0 13 69 2NV-1 aT 100 74.0 28.0
109 177 2¢ V= *2 -90 74.0 28.0 14 68 3# 0O-1 &K 100 74.0 28.0
117 169 3&4DS-1 aA -200 72.0 30.0| 164 166 34 O-1 v2 100 74.0 28.0
65 17 3NV = &4 -400 65.0 37.0| 175 111 INV-1 vT 100 74.0 28.0
66 16 3NV = 2 -400 65.0 37.0| 207 279 2NV-1 vJ] 100 74.0 28.0
80 63 3NV = »2 -400 65.0 37.0| 109 177 INN= »8 90 64.0 38.0
104 103 3NV= &2 -400 65.0 37.0( 173 113 INN= *4 90 64.0 38.0
167 163 3NV = a5 -400 65.0 37.0| 216 270 INN= s A 90 64.0 38.0
276 210 3NV= »2 -400 65.0 37.0 71 11 14 S= v9 80 57.0 45.0
2 1 464 V= +8 -420 41.0 61.0| 116 170 14 S= v9 80 57.0 45.0
4 78 44 V= a2 -420 41.0 610 265 267 1la S= v9 80 57.0 45.0
7 75 44 V= a2 -420 41.0 610 269 217 1la S= v9 80 57.0 45.0
8 74 4e V= A -420 41.0 61.0 3 79 2v N-1 &T -50 43.0 59.0
15 67 44 V= a5 -420 41.0 61.0 8 74 2v N-1 s A -50 43.0 59.0
73 9 44 O= v2 -420 41.0 61.0 65 17 24 S-1 v9 -50 43.0 59.0
108 178 44 V= a2 -420 41.0 61.0| 110 176 1s4 S-1 v9 -50 43.0 59.0
115 171 44 V= *4 -420 41.0 61.0( 114 172 24 S-1 v9 -50 43.0 59.0
116 170 44 V= a2 -420 41.0 61.0( 117 169 3v N-1 *4 -50 43.0 59.0
173 113 44 V= 45 -420 41.0 61.0| 179 107 2v N-1 *4 -50 43.0 59.0
179 107 44 O= *T -420 41.0 61.0( 209 277 24 S-1 v9 -50 43.0 59.0
208 278 44 V= +4 -420 41.0 610 276 210 INN-1 &T -50 43.0 59.0
209 277 4e V= 43 -420 41.0 61.0| 280 266 3v N-1 &K -50 43.0 59.0
213 273 44 O= *T -420 41.0 61.0 12 70 INV = aT -90 31.0 71.0
265 267 44 V= a2 -420 41.0 61.0( 168 118 INV= aT -90 31.0 71.0
268 264 44 V= a5 -420 41.0 61.0 2 1 2NS-2 &5 -100 21.0 81.0
274 212 44 V= a2 -420 41.0 61.0 18 64 3v N-2 s A -100 21.0 81.0
280 266 44 V= vK -420 41.0 61.0 80 63 3vyDN-1 ¢+5 -100 21.0 81.0
6 76 3NV +1 *4 -430 12.0 90.0( 105 102 3v N-2 &3 -100 21.0 81.0
10 72 3NV +1 &4 -430 12.0 90.0| 106 101 4v N-2 s A -100 21.0 81.0
13 69 3NV +1 +4 -430 12.0 90.0| 167 163 24 S-2 v9 -100 21.0 81.0
14 68 3NV +1 +9 -430 12.0 90.0( 215 271 24DS-1 v9 -100 21.0 81.0
71 11 3NV +1 *4 -430 12.0 90.0| 268 264 INN-2 8 -100 21.0 81.0
77 5 3NV +1 +4 -430 12.0 90.0| 208 278 3# 0= &K -110 10.0 92.0
105 102 3NV +1 *4 -430 12.0 90.0| 213 273 3#V-= vA -110 10.0 92.0
164 166 3NV +1 »2 -430 12.0 90.0| 274 212 3#0= v4 -110 10.0 92.0
175 111 3NV +1 +8 -430 12.0 90.0| 112 174 1INV +1 aT -120 5.0 97.0
180 165 3NV +1 *4 -430 12.0 90.0( 204 203 1INV +1 aT -120 5.0 97.0
214 272 3NV +1 »2 -430 12.0 90.0| 205 202 2NS-3 2 -150 2.0 100.0
204 203 3NV +2 +9 -460 0.0 102.0 66 16 34D N-2 &5 -300 0.0 102.0
- 206 56.2 - 206 56.2
39 «D 40 « E1074
Syd v D975 Vast vK
Alla 410852 Ingen ¢ KKn763
#D1072 #1042
4 KKn10752 & E843 a4 KKn5 493
v10 v K642 vED82 vKnl1075
¢ EDKn3 + K6 4982 ¢ ED104
*Kn9 *EK4 2953  #EK6
# 96 « D862
v EKn83 v 9643
¢ 974 +5
#8653 &DKn87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
177 105 7NO-2 vA 200 102.0 0.0| 108 174 44 O-3 ¢+5 150 101.0 1.0
9 75 44 V +2 2 -680 82.0 200 205 204 2¢ O-3 46 150 101.0 1.0
13 71 54 V+1 »2 -680 82.0 200 173 109 1a N+1 A 110 98.0 4.0
15 69 4e V+2 &7 -680 82.0 20.0 3 2 49 O-2 ¢+5 100 92.0 10.0
67 17 44 V +2 *T -680 82.0 20.0 66 18 4v O -2 +5 100 92.0 10.0
72 12 54 V+1 v7 -680 82.0 20.0( 102 101 4v V-2 &T 100 92.0 10.0
102 101 54 V+1 v5 -680 82.0 20.0( 114 168 4v O-2 ¢+5 100 92.0 10.0
106 176 4e V+2 v5 -680 82.0 200 266 268 4v V-2 ¢+5 100 92.0 10.0
107 175 5e V+1 v8 -680 82.0 20.0 67 17 1a N= A 80 86.0 16.0
110 172 54 V +1 2 -680 82.0 20.0 4 1 4v0-1 +5 50 78.0 24.0
114 168 54 V+1 2 -680 82.0 20.0 5 79 4v V-1 +3 50 78.0 24.0
118 164 5e V +1 v7 -680 82.0 20.0( 106 176 4v V-1 s A 50 78.0 24.0
165 117 4a V +2 v5 -680 82.0 20.0( 107 175 3vO-1 ¢+5 50 78.0 24.0
173 109 4e V +2 »2 -680 82.0 200 118 164 4v O-1 ¢+5 50 78.0 24.0
180 163 5& V+1 a2 -680 82.0 20.0( 165 117 4v O-1 +5 50 78.0 24.0
205 204 54 V+1 *T -680 82.0 200 275 213 4v0O-1 ¢+5 50 78.0 24.0
215 273 54 V+1 *T -680 82.0 20.0 16 68 24 N-1 &K -50 70.0 32.0
216 272 44 V +2 2 -680 82.0 20.0( 104 178 1e N-2 A -100 65.0 37.0
269 265 44 V+2 v7 -680 82.0 20.0( 166 116 24 N-2 49 -100 65.0 37.0
275 213 44 V +2 »2 -680 82.0 20.0( 180 163 24 N-2 SA -100 65.0 37.0
206 203 44 V+3 «Q -710 62.0 40.0| 270 264 24 N-2 A -100 65.0 37.0
3 2 646 V= v5 -1430 32.0 70.0( 202 207 1lv V+1 ¢J -110 59.0 43.0
4 1 64 V= +5 -1430 32.0 700 216 272 2v V= *2 -110 59.0 43.0
5 79 64 V= v7 -1430 32.0 70.0( 269 265 2&V+2 *7 -130 56.0 46.0
7 77 64 V= +Q -1430 32.0 70.0 7 77 3v V= +3 -140 41.0 61.0
8 76 64 V= &2 -1430 32.0 70.0 8 76 2v V+1 *6 -140 41.0 61.0
11 73 64 V= &7 -1430 32.0 70.0 9 75 3v V= s A -140 41.0 61.0
14 70 64 V= &7 -1430 32.0 70.0 13 71 3v V= 4 A -140 41.0 61.0
16 68 64 V= v7 -1430 32.0 70.0 14 70 3v V= +J -140 41.0 61.0
63 65 64 V= v7 -1430 32.0 70.0 63 65 2v V+1 *7 -140 41.0 61.0
74 10 64 V= *T -1430 32.0 70.0 72 12 3v O = +5 -140 41.0 61.0
78 6 64 V= +8 -1430 32.0 70.0 80 64 1v V +2 &T -140 41.0 61.0
80 64 6e V= »2 -1430 32.0 70.0( 103 179 2v V+1 *7 -140 41.0 61.0
103 179 64 V= &7 -1430 32.0 70.0( 112 170 3v V= a7 -140 41.0 61.0
104 178 64 V= v5 -1430 32.0 70.0( 113 169 2v V+1 &4 -140 41.0 61.0

Skanes BF, Allemanstraffens final 2010 2010-03-07, sida 16 av 20




108 174 64 V= v5 -1430 32.0 70.0( 171 111 3v V= s A -140 41.0 61.0
113 169 64 V= v7 -1430 32.0 70.0( 209 279 1lv V+2 »2 -140 41.0 61.0
115 167 64 V= &2 -1430 32.0 70.0| 215 273 3v V= +5 -140 41.0 61.0
166 116 64 V= ¢+5 -1430 32.0 70.0( 280 267 34 N-3 A -150 26.0 76.0
171 111 64 V= v7 -1430 32.0 70.0 11 73 2v V+2 vK -170 19.0 83.0
202 207 64 V= &T -1430 32.0 70.0 15 69 2v O +2 +5 -170 19.0 83.0
209 279 64 V= 3 -1430 32.0 70.0( 110 172 2v V+2 &T -170 19.0 83.0
210 278 64 V= *2 -1430 32.0 70.0( 210 278 2v O +2 ¢+5 -170 19.0 83.0
212 276 64 V= v5 -1430 32.0 700 212 276 2v V+2 4 A -170 19.0 83.0
214 274 64 V= +8 -1430 32.0 70.0( 214 274 3v O+1 *Q -170 19.0 83.0
217 271 64 V= »2 -1430 32.0 70.0| 277 211 34DS-2 vA -300 12.0 90.0
266 268 64 V= &7 -1430 32.0 70.0 74 10 4v O = ¢+5 -420 5.0 97.0
270 264 64 V= v5 -1430 32.0 70.0 78 6 4v V= s A -420 5.0 97.0
277 211 64 V= ¢+5 -1430 32.0 70.0( 115 167 4v O= *Q -420 5.0 97.0
280 267 64 V= v7 -1430 32.0 70.0( 177 105 4y O= ¢+5 -420 5.0 97.0
112 170 6NO = +9 -1440 2.0 100.0| 206 203 4v V= s A -420 5.0 97.0
66 18 64 V+1 »2 -1460 0.0 102.0| 217 271 4v V= 4 A -420 5.0 97.0
208 - 46.7 208 - 46.7
41 « D10 42 « D87653
Nord vD3 Ost v K872
ov + K9876 Alla ¢ D42
#K1052 »-
4 E862 4Kn53 4 EKKN2 #1094
vK1092 vEKn764 vE10643 ¥5
4 Kn5 *4 ¢7 + EK1086
#E43 #Kn986 #E103 #DKn97
4 K974 @-
v 85 v DKn9
¢+ ED1032 ¢ Kn953
&D7 #K86542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
113 171 4vDV-2 +6 500 102.0 0.0| 172 112 44DO-2 vJ 500 102.0 0.0
105 179 44 V-3 ¢+ K 300 100.0 2.0 16 70 3¢ O-3 &4 300 100.0 2.0
17 69 4¢ S= v2 130 95.0 7.0 75 11 3v V-2 8 200 93.0 9.0
75 11 4¢ N= s A 130 95.0 70| 163 165 2v V-2 48 200 93.0 9.0
116 168 4¢ S= s A 130 95.0 70| 178 106 3NO-2 &4 200 93.0 9.0
264 266 3¢ S+1 A 130 95.0 70| 206 278 3NV-2 v2 200 93.0 9.0
10 76 3¢ S= A 110 81.0 21.0( 268 216 5&V-2 48 200 93.0 9.0
64 66 3¢ N= +3 110 81.0 210 280 265 34 O-2 vQ 200 93.0 9.0
68 18 3¢ S= +J 110 81.0 21.0 10 76 2v V-1 a5 100 81.0 21.0
107 177 34 S= vT 110 81.0 21.0 14 72 44 V-1 43 100 81.0 21.0
163 165 3¢ S= v2 110 81.0 21.0( 107 177 24 V-1 ¢2 100 81.0 21.0
172 112 34 S= +J 110 81.0 21.0( 111 173 44 O-1 &5 100 81.0 21.0
215 269 3¢ S= v2 110 81.0 21.0( 167 117 34 V-1 2 100 81.0 21.0
268 216 3¢ N= &3 110 81.0 21.0( 264 266 3NO-1 &5 100 81.0 21.0
279 205 3¢ S= v9 110 81.0 21.0( 267 217 2NO+1 *2 -150 73.0 29.0
280 265 3¢ S= ¢+5 110 81.0 21.0( 273 211 INO+2 &5 -150 73.0 29.0
4 3 3v0O-1 ¢ A 100 65.0 37.0| 275 209 2NV +2 48 -180 70.0 32.0
15 71 3v0O-1 ¢ A 100 65.0 37.0 12 74 INO +4 &5 -210 68.0 34.0
16 70 3v V-1 +6 100 65.0 37.0| 215 269 24 N-3 v5 -300 66.0 36.0
104 101 3v O-1 *A 100 65.0 37.0 4 3 3NO= »2 -600 49.0 53.0
208 276 3v V-1 «Q 100 65.0 37.0 5 2 3NO= &4 -600 49.0 53.0
212 272 4v O-1 ¢ A 100 65.0 37.0 6 1 3NO= vQ -600 49.0 53.0
111 173 Pass 58.0 44.0 17 69 3NV = 46 -600 49.0 53.0
5 2 3NS-1 3 -50 43.0 59.0 68 18 3NO = &4 -600 49.0 53.0
9 77 4¢ S-1 v2 -50 43.0 59.0 79 7 3NO= »2 -600 49.0 53.0
12 74 INN-1 v6 -50 43.0 59.0 80 65 3NO= &5 -600 49.0 53.0
67 63 INN-1 v7 -50 43.0 59.0( 104 101 3NV= v2 -600 49.0 53.0
114 170 4¢ N-1 vA -50 43.0 59.0| 109 175 3NO= »8 -600 49.0 53.0
115 169 4¢ S-1 v9 -50 43.0 59.0| 113 171 3NO= &4 -600 49.0 53.0
166 118 3NS-1 a2 -50 43.0 59.0( 116 168 3NV= a7 -600 49.0 53.0
167 117 44 S-1 vT -50 43.0 59.0| 166 118 3NV = 2 -600 49.0 53.0
174 110 4¢ S-1 +5 -50 43.0 59.0| 203 202 3NV= a5 -600 49.0 53.0
178 106 4¢ S-1 v2 -50 43.0 59.0( 210 274 3NO= &5 -600 49.0 53.0
180 164 4¢ S-1 ¢J -50 43.0 59.0| 212 272 3NV= 46 -600 49.0 53.0
206 278 4¢ N-1 v4 -50 43.0 59.0| 279 205 3NO= vQ -600 49.0 53.0
207 277 4¢ S-1 +J -50 43.0 59.0 8 78 3NV +1 46 -630 21.0 81.0
214 270 4¢ S-1 v9 -50 43.0 59.0 9 77 3NV +1 46 -630 21.0 81.0
79 7 4¢DS-1 v2 -100 27.0 75.0 15 71 3NV +1 +4 -630 21.0 81.0
273 211 4¢DS-1 vT -100 27.0 75.0 73 13 3NO+1 vQ -630 21.0 81.0
108 176 2v V= ¢7 -110 24.0 78.0( 103 102 3NV +1 v7 -630 21.0 81.0
6 1 3v0O= ¢2 -140 15.0 87.0| 105 179 3NO +1 &4 -630 21.0 81.0
14 72 3v O= *T -140 15.0 87.0| 108 176 3NV +1 46 -630 21.0 81.0
73 13 3v O = ¢ A -140 15.0 87.0| 114 170 3NV +1 43 -630 21.0 81.0
103 102 2v O +1 L JO) -140 15.0 87.0| 174 110 3NO+1 &5 -630 21.0 81.0
203 202 3v O= ¢ A -140 15.0 87.0| 180 164 3NV +1 a3 -630 21.0 81.0
213 271 3v V= ¢+ K -140 15.0 87.0| 207 277 3NO+1 &4 -630 21.0 81.0
267 217 3v V= 4Q -140 15.0 87.0| 208 276 3NV +1 3 -630 21.0 81.0
275 209 3v V= +6 -140 15.0 87.0| 213 271 3NV +2 46 -660 7.0 95.0
8 78 2v V +2 ¢7 -170 3.0 99.0| 214 270 3NO +2 L X -660 7.0 95.0
80 65 3v O +1 v8 -170 3.0 99.0 67 63 14DN-3 v5 -800 4.0 98.0
109 175 3v O +1 ¢ A -170 3.0 99.0 64 66 24DN-4 ¢ A -1100 1.0 101.0
210 274 3v O+1 *Q -170 3.0 99.0| 115 169 3#DS-4 ¢7 -1100 1.0 101.0
204 - 44.6 204 - 44.6
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43 « D97 44 « E108763
Syd v Kn543 Vast v 932
Ingen ¢ DKn NS +D5
#E975 #98
4E642 4853 494 4 DKn
vKD76 vE109 vD106 v KKn7
¢107  ¢K52 ¢ 63 ¢ KKn10982
#D108 #Kn643 #1065432 #EKn
& KKn10 K52
v 82 v E854
¢ E98643 ¢E74
*K2 *KD7
Par Kontr ut Res Poang Par Kontr ut Res Poang
277 215 2ND O -2 v9 300 102.0 00| 217 275 2NDO -4 a2 800 102.0 0.0
113 179 2¢DS+1 vK 280 100.0 2.0 74 14 44 N+1 *A 650 98.0 4.0
17 71 3NO-4 +6 200 98.0 4.0( 115 177 44 N+1 *A 650 98.0 4.0
217 275 2NN +2 3 180 96.0 6.0| 216 276 44 N+1 2A 650 98.0 4.0
16 72 INS+2 a4 150 89.0 13.0 15 73 44 N= *A 620 90.0 12.0
103 110 4v V-3 *A 150 89.0 13.0 76 12 4v N= *A 620 90.0 12.0
112 101 2NN +1 3 150 89.0 13.0| 111 102 44 N= *A 620 90.0 12.0
115 177 INS+2 &T 150 89.0 13.0| 113 179 44 N= *A 620 90.0 12.0
207 206 INO-3 *4 150 89.0 13.0| 264 274 44 N= L) 620 90.0 12.0
208 205 1¢ V-3 a7 150 89.0 13.0( 112 101 4¢DO-2 oK 300 84.0 18.0
5 4 24 S+1 oT 140 82.0 20.0 18 70 34 N +2 *A 200 77.0 25.0
6 3 3¢ S+1 8 130 63.0 39.0 68 64 34 N +2 +Q 200 77.0 25.0
10 78 2¢ S+2 oT 130 63.0 39.0| 108 105 34 N+2 +8 200 77.0 25.0
13 75 24 S+2 oT 130 63.0 39.0| 171 165 24 N+3 *A 200 77.0 25.0
15 73 24 S+2 v7 130 63.0 39.0| 208 205 34 N+2 *A 200 77.0 25.0
18 70 2¢ S+2 a2 130 63.0 39.0| 268 270 34 N+2 2A 200 77.0 25.0
74 14 2¢ N+2 *9 130 63.0 39.0 1 8 34 N+1 *A 170 56.0 46.0
76 12 2¢ S+2 *T 130 63.0 39.0 5 4 34 N+1 *A 170 56.0 46.0
107 106 3¢ S+1 s A 130 63.0 39.0 6 3 34 S+1 +6 170 56.0 46.0
163 173 24 S+2 oT 130 63.0 39.0 10 78 24 N +2 v7 170 56.0 46.0
167 169 2¢ S+2 oT 130 63.0 39.0 16 72 34 N+1 *J 170 56.0 46.0
170 166 2¢ S+2 oT 130 63.0 39.0 65 67 34 S+1 +6 170 56.0 46.0
210 203 2¢ S+2 *8 130 63.0 39.0| 117 175 24 S+2 +6 170 56.0 46.0
211 202 2¢ S+2 vQ 130 63.0 39.0| 163 173 34 N+1 *A 170 56.0 46.0
216 276 2¢ S+2 s A 130 63.0 39.0| 164 172 34 S+1 *3 170 56.0 46.0
268 270 2¢ S+2 o7 130 63.0 39.0| 167 169 24 N+2 LY6) 170 56.0 46.0
271 267 2¢ S+2 *T 130 63.0 39.0| 178 114 34 S+1 +6 170 56.0 46.0
279 213 24 S+2 vK 130 63.0 39.0| 180 168 24 N+2 2A 170 56.0 46.0
280 269 2¢ S+2 v6 130 63.0 39.0| 211 202 34 N+1 *A 170 56.0 46.0
118 174 INS+1 a2 120 44.0 58.0| 265 273 34 N+1 *A 170 56.0 46.0
108 105 3¢ S= *Q 110 41.0 61.0 279 213 34 N+1 *A 170 56.0 46.0
214 278 3¢ S= *Q 110 41.0 61.0| 107 106 4¢ O-3 *K 150 40.0 62.0
11 77 2NO -2 ¢ A 100 32.0 70.0 69 63 34 N= *A 140 35.0 67.0
69 63 INO-2 ¢2 100 32.0 70.0 109 104 34 N= *A 140 35.0 67.0
164 172 INO-2 ¢6 100 32.0 70.0| 176 116 24 N+1 LY6) 140 35.0 67.0
171 165 3#0-2 *A 100 32.0 70.0| 280 269 24 S+1 +6 140 35.0 67.0
178 114 2v V-2 ¢+ Q 100 32.0 70.0 7 2 3¢DO-1 43 100 27.0 75.0
265 273 3#0-2 v8 100 32.0 70.0 80 66 3% 0O -2 v4 100 27.0 75.0
272 266 3v O-2 ¢ A 100 32.0 70.0| 170 166 4¢ O-2 a2 100 27.0 75.0
68 64 2NO-1 v8 50 20.0 82.0| 210 203 3#V-2 oA 100 27.0 75.0
80 66 INO-1 +6 50 20.0 82.0| 118 174 3¢ O-1 *K 50 21.0 81.0
111 102 3+ 0O-1 v8 50 20.0 82.0| 271 267 3¢ O-1 *4 50 21.0 81.0
117 175 INO-1 +3 50 20.0 82.0| 204 209 44 N-1 L) -100 15.0 87.0
264 274 INO-1 *4 50 20.0 82.0| 214 278 34 S-1 +6 -100 15.0 87.0
7 2 Pass 10.0 92.0| 272 266 44 S-1 +6 -100 15.0 87.0
9 79 Pass 10.0 92.0| 277 215 54 S-1 +5 -100 15.0 87.0
176 116 Pass 10.0 92.0 17 71 INO+1 v3 -120 9.0 93.0
180 168 Pass 10.0 92.0| 103 110 INO+1 v5 -120 9.0 93.0
204 209 Pass 10.0 92.0| 207 206 INO+2 +K -150 6.0 96.0
109 104 INV= &K -90 4.0 98.0 9 79 54 S-2 *6 -200 3.0 99.0
1 8 2NN -2 3 -100 2.0 100.0 13 75 2NS-2 +6 -200 3.0 99.0
65 67 2NO= v8 -120 0.0 102.0 11 77 4v S-3 +6 -300 0.0 102.0
212 - 54.5 212 - 54.5
45 « EKn10 46 4765
Nord v62 Ost v-
Alla ¢ ED53 Ingen ¢ EKKn874
#10752 #EKn108
4 K97 &D82 « KKn83 & E10942
vKn73 vD1098 vE8432 vKKn5
¢ K962 ¢ Kn4 ¢9 +1032
#984 #EDG63 *K94 *75
#6543 D
v EK54 vD10976
¢ 1087 + D65
#KKn #D632
Par Kontr ut Res Poang Par Kontr ut Res Poang
66 68 1ND O -2 v6 500 100.0 20| 169 163 4vDV-6 *A 1400 102.0 0.0
113 175 INV-5 &5 500 100.0 2.0 16 74 4vDV -5 ¢A 1100 100.0 2.0
169 163 INDV-2 v6 500 100.0 20| 212 203 5¢DN+1 vK 650 97.0 5.0
8 3 INO-3 vK 300 95.0 70| 280 270 5¢DN+1 s A 650 97.0 5.0
212 203 2#0-3 46 300 95.0 7.0 6 5 56DN= *2 550 93.0 9.0
75 15 1INV -2 EN] 200 90.0 12.0| 113 175 5¢DN= aA 550 93.0 9.0
208 207 INO-2 vA 200 90.0 120 174 114 4¢DN= oA 510 90.0 12.0
209 206 INV-2 &5 200 90.0 120 215 279 3vDV-3 a7 500 88.0 14.0
211 204 2NN +1 *J 150 85.0 17.0 63 71 5# S +1 v5 420 86.0 16.0
273 267 INN+2 3 150 85.0 17.0 18 72 5¢ N= vJ 400 84.0 18.0
217 277 24 N+1 ¢J 140 82.0 20.0 66 68 3vDV-2 ¢A 300 80.0 22.0
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106 103 8 130 80.0 22.0( 115 173 3vDV-2 ¢+ K 300 80.0 22.0
16 74 v8 120 73.0 29.0( 116 172 3vDV-2 ¢+ K 300 80.0 22.0
69 65 v9 120 73.0 29.0 11 79 2v V-4 *A 200 76.0 26.0

105 104 »3 120 73.0 29.0 69 65 4¢ N+2 s A 170 63.0 39.0

116 172 v8 120 73.0 29.0 75 15 4¢ N+2 v5 170 63.0 39.0

205 210 &3 120 73.0 29.0| 101 108 2¢ N +4 4 A 170 63.0 39.0

278 216 v8 120 73.0 29.0( 107 102 3¢ N+3 &7 170 63.0 39.0

7 4 v9 110 65.0 37.0| 110 178 4¢ N+2 vK 170 63.0 39.0

107 102 v8 110 65.0 37.0| 117 171 4e¢ N+2 aA 170 63.0 39.0
77 13 v6 100 60.0 42.0| 118 170 4¢ N+2 v5 170 63.0 39.0

118 170 &T 100 60.0 42.0| 168 164 4¢ N+2 2 170 63.0 39.0

269 271 ¢+5 100 60.0 42.0| 211 204 4e¢ N+2 aA 170 63.0 39.0
18 72 vT 90 53.0 49.0| 217 277 4¢ N+2 v5 170 63.0 39.0
63 71 v8 90 53.0 49.0| 264 276 3¢ N+3 4 A 170 63.0 39.0
70 64 +J 90 53.0 49.0( 265 275 2¢ N+4 &5 170 63.0 39.0

110 178 »3 90 53.0 49.0| 106 103 2& N+3 v5 150 49.0 53.0
10 1 30.0 720 266 274 4v V-3 ¢+ K 150 49.0 53.0
11 79 30.0 72.0( 111 177 2¢ N+2 4 A 130 43.0 59.0
14 76 30.0 720( 176 112 44 N= &7 130 43.0 59.0
17 73 30.0 72.0( 213 202 4¢ N= v4 130 43.0 59.0

101 108 30.0 720( 269 271 4¢ N= v5 130 43.0 59.0

109 179 30.0 72.0 2 9 3v V-2 ¢ A 100 33.0 69.0

111 177 30.0 72.0 12 78 3v V-2 ¢+ K 100 33.0 69.0

115 173 30.0 720( 180 166 3v V-2 ¢A 100 33.0 69.0

117 171 30.0 72.0( 208 207 2v V-2 ¢ A 100 33.0 69.0

168 164 30.0 720 209 206 3v V-2 ¢+ K 100 33.0 69.0

174 114 30.0 720 278 216 3v V-2 ¢A 100 33.0 69.0

176 112 30.0 72.0 10 1 3vV-1 ¢ A 50 22.0 80.0

180 166 30.0 72.0 77 13 3v V-1 »2 50 22.0 80.0

213 202 30.0 720( 109 179 2v V-1 ¢ A 50 22.0 80.0

264 276 30.0 72.0( 205 210 34 O-1 +Q 50 22.0 80.0

265 275 30.0 72.0| 272 268 34 O-1 +Q 50 22.0 80.0

266 274 30.0 720( 105 104 44 N-1 vJ] -50 15.0 87.0

272 268 30.0 720 273 267 2NN-1 a2 -50 15.0 87.0

280 270 30.0 72.0| 165 167 2v V= ¢+ K -110 12.0 90.0

2 9 +3 -90 9.0 93.0 14 76 34 O= &3 -140 10.0 92.0
80 67 »2 -90 9.0 93.0 7 4 3NS-3 v2 -150 8.0 94.0
12 78 »3 -100 5.0 97.0 8 3 34 0+1 +Q -170 4.0 98.0
215 279 v8 -100 5.0 97.0 17 73 34 O+1 +3 -170 4.0 98.0
165 167 +3 -120 2.0 100.0 70 64 34 O+1 ¢+5 -170 4.0 98.0
6 5 2 -200 0.0 102.0 80 67 44 O+1 +Q -450 0.0 102.0
- 214 47.8 - 214 47.8
47 465 48 # K986
Syd vKD32 Vast v EDKn3
NS ¢+ D752 ov + K105
D104 *Kn4
4 D1098742 &Kn3 4 E107543 #4Kn
vKn5 vE96 v 104 v K97
+ E86 + K93 +98 + EDKn62
*6 #EKNn873 *K97 #10863
« EK «D2
v 10874 v 8652
¢+ Kn104 4743
£ K952 &ED52
Par Ut Res Poang Par Kontr Ut Res Poang

271 265 *6 140 102.0 0.0| 203 208 2ND O -2 v5 500 102.0 0.0
15 77 44DV -1 vK 100 97.0 5.0 12 1 34V-2 vA 200 96.0 6.0
64 72 44D O-1 46 100 97.0 50| 106 105 34 V-2 LN 200 96.0 6.0

111 179 44DV-1 vK 100 97.0 50| 110 101 2¢ O-2 +3 200 96.0 6.0

175 115 44DV-1 vK 100 97.0 50| 117 173 3¢DO-1 *7 200 96.0 6.0

7 6 V-1 vK 50 85.0 17.0( 270 266 24 V-2 vK 200 96.0 6.0
63 73 V-1 a5 50 85.0 17.0 63 73 INN+2 ¢ A 150 90.0 12.0

110 101 V-1 vK 50 85.0 17.0 3 10 2v N= ] 110 87.0 15.0

215 275 V-1 46 50 85.0 17.0 267 269 2v N= Ly 110 87.0 15.0

264 272 V-1 ¢+5 50 85.0 17.0 71 65 4¢ O-1 v2 100 82.0 20.0

267 269 V-1 vK 50 85.0 17.0( 108 103 3¢ O-1 v8 100 82.0 20.0

278 212 V-1 ¢+5 50 85.0 17.0( 163 171 24 V-1 LN 100 82.0 20.0

280 268 V-1 vK 50 85.0 17.0 8 5 2vN-1 aJ -50 67.0 35.0

106 105 S 76.0 26.0 11 2 3vN-1 ¢ A -50 67.0 35.0

3 10 V+1 2 -140 53.0 49.0 15 77 INN-1 v7 -50 67.0 35.0

8 5 V= 2 -140 53.0 49.0 64 72 2v S-1 +9 -50 67.0 35.0
13 79 V= v2 -140 53.0 49.0 67 69 3v S-1 4 A -50 67.0 35.0
17 75 V= vK -140 53.0 49.0 78 14 INN-1 ¢ A -50 67.0 35.0
18 74 V+1 a5 -140 53.0 49.0| 114 176 2v S-1 aJ -50 67.0 35.0
67 69 V= vK -140 53.0 49.0( 116 174 INN-1 2 -50 67.0 35.0
70 66 V+1 vK -140 53.0 49.0| 166 168 INN-1 ¢ A -50 67.0 35.0
71 65 V= vK -140 53.0 49.0| 217 273 2v N-1 aJ -50 67.0 35.0
78 14 V+1 vK -140 53.0 49.0( 264 272 2v N-1 ] -50 67.0 35.0

102 109 V+1 a5 -140 53.0 49.0| 278 212 3v S-1 s A -50 67.0 35.0

114 176 V= vK -140 53.0 49.0 18 74 3v S-2 4 A -100 49.0 53.0

116 174 V= vK -140 53.0 49.0| 102 109 2v S-2 +9 -100 49.0 53.0

117 173 V= vK -140 53.0 49.0| 169 165 3v S-2 & A -100 49.0 53.0

163 171 V= vK -140 53.0 49.0| 211 279 2v N-2 aJ -100 49.0 53.0

166 168 V+1 +5 -140 53.0 49.0| 271 265 3v N-2 ] -100 49.0 53.0

170 164 O+1 v8 -140 53.0 49.0| 280 268 4v S-2 s A -100 49.0 53.0

203 208 V+1 +5 -140 53.0 49.0| 209 202 24 V= LN -110 42.0 60.0

206 205 V= +5 -140 53.0 49.0 17 75 24 V+1 &J -140 39.0 63.0

209 202 V+1 46 -140 53.0 49.0| 118 172 24 V+1 LN -140 39.0 63.0

211 279 V+1 vK -140 53.0 49.0 9 4 3vS-3 +9 -150 25.0 77.0

216 274 V= a5 -140 53.0 49.0 13 79 3v S-3 +9 -150 25.0 77.0
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270 266 24 V+1 vK -140 53.0 49.0 70 66 3v S-3 +9 -150 25.0 77.0
9 4 34 V+1 vK -170 22.0 80.0 80 68 3v N-3 aJ -150 25.0 77.0
76 16 34 V+1 vK -170 22.0 80.0| 107 104 3NN-3 +Q -150 25.0 77.0
80 68 24 V +2 2 -170 22.0 80.0| 111 179 4v N-3 43 -150 25.0 77.0
112 178 34 O +1 &T -170 22.0 80.0( 112 178 3v N-3 aJ -150 25.0 77.0
118 172 24 V +2 46 -170 22.0 80.0| 170 164 4v S-3 vT -150 25.0 77.0
177 113 24 V +2 vK -170 22.0 80.0| 175 115 3v S-3 +9 -150 25.0 77.0
180 167 34 V+1 ¢2 -170 22.0 80.0( 180 167 4v N-3 aJ -150 25.0 77.0
207 204 34 V+1 vK -170 22.0 80.0| 207 204 3v S-3 +9 -150 25.0 77.0
217 273 24 V +2 46 -170 22.0 80.0| 276 214 2v N-3 aJ -150 25.0 77.0
12 1 24 O+3 a K -200 9.0 93.0 7 6 3#S-4 vT -200 9.0 93.0
107 104 4v S-2 *6 -200 9.0 93.0| 213 277 3v N-4 L} -200 9.0 93.0
108 103 3& V +2 v2 -200 9.0 93.0| 215 275 3NS-4 43 -200 9.0 93.0
213 277 24 V+3 +5 -200 9.0 93.0( 216 274 3NN-4 *J -200 9.0 93.0
11 2 3vS-3 *6 -300 4.0 98.0 76 16 2¢DV +1 &J -380 4.0 98.0
276 214 44 V= vK -420 2.0 100.0| 177 113 2vDN-3 aJ -500 2.0 100.0
169 165 34DV = a5 -530 0.0 102.0| 206 205 24DV +1 &J -870 0.0 102.0
210 - 39.5 210 - 39.5
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